	А	В	С	D	E	F
	,,		Ç		UNIT	
					REPLACE	TOTAL
					MENT	REPLACEM
1	SUPPLIER	PART#	DESCRIPTION	QTY	COST	ENT COST
2						
3						
4	EATON CORP	849AN00143	KBS2DG4V-3-96L-40-M1F1-PE7-H8-CO-A	4	\$3,858.04	\$15,432.14
5	EATON CORP	02-413172	KBFDG4V-5-33C30N-Z-M2-PE7-H7-11	6	\$2,123.94	\$12,743.64
6	EATON CORP	103EC99001	Pro-FX FULL LICENSE KEY	3	\$2,929.84	\$8,789.51
7	EATON CORP	998600	BODY; 25 VMQ SS INCH30TH	12	\$657.38	\$7,888.61
8	EATON CORP	433780-3	3525VQ25A12 11CC20	3	\$2,617.52	\$7,852.57
9	EATON CORP	849AN00144	KBS2DG4V-3-96L-24-M1F1-PE7-H8-CO-A	2	\$3,858.04	\$7,716.07
10	EATON CORP	02-332260	CVI 63 HFV 20 A21610EN10	2	\$3,670.21	\$7,340.42
11	EATON CORP	134ME00010	ME MOTOR ME300BKE DWG #DZA580B	2	\$3,254.16	\$6,508.32
12	EATON CORP	70145-LBK-0	PST PUMP ASY	1	\$6,470.10	\$6,470.10
13	EATON CORP	02-346997	C KIT 25VMQ-063,BUNA32ND (BLD RT)	7	\$868.69	\$6,080.80
14	EATON CORP	998588	VMQ ADAPTER	4	\$1,519.52	\$6,078.07
15	EATON CORP	02-199941	POC1-10V-F-0-75	180	\$33.31	\$5,995.08
16	EATON CORP	998713	COVER; INLET 25VMQ 30TH C	10	\$560.74	\$5,607.42
17	EATON CORP		BOLT KIT EXTENDER	13	\$421.51	\$5,479.66
18	EATON CORP	02-149582	CS5-100A-C-M-FW-B5-100-EN403	4	\$1,265.63	\$5,062.51
19	EATON CORP	111520-100	+/- 100 mA EP ELECTRONICCONTROL M	3	\$1,475.84	\$4,427.51
20	EATON CORP	70523-FT	PRESS COMP	7	\$589.68	\$4,127.76
21	EATON CORP	02-348374	C KIT 35VMQ-140 BUNA32ND (BLD RT)	3	\$1,292.38	\$3,877.15
22	EATON CORP	6740-000	10K VALVE HOUSING W/ NO BEARINGS	8	\$458.64	\$3,669.12
23	EATON CORP	21850-023	H GEROTER (3.6 CI) [0.40] MAX420	24	\$146.33	\$3,511.87
24	EATON CORP	02-346966-L	C KIT 45VMQ-180, BUNA32ND (BLD LT)	2	\$1,738.46	\$3,476.93
25	EATON CORP	62506-000	10K VALVE HSG 1-5/16 ORING	8	\$402.95	\$3,223.58
26	EATON CORP	8277-026	H GEROTER 17.9 CI -009 [1.59]	11	\$282.83	\$3,111.11
27	EATON CORP	860349	SHAFT; #2 25VPF	10	\$309.04	\$3,090.36
28	EATON CORP	64501-000	SPG.KIT ORB.&TQ.GEN.	48	\$63.34	\$3,040.13
	EATON CORP		+/- 100 mA EP ELECTRONICCONTROL M		\$1,475.84	\$2,951.68
30	EATON CORP	02-465545-L	C KIT 25VMQ-090 CVR END32ND (BLD LT	2	\$1,451.81	\$2,903.63
31	EATON CORP	02-465578	C KIT 25VMQ-025 BUNA32ND (BLD RT)	4	\$724.54	\$2,898.17
-	EATON CORP		DG4V-3-2N-M-FW-H7-60	12	\$240.24	\$2,882.88
	EATON CORP		DG4V-3-2N-M-FW-D6-60	12	\$240.24	\$2,882.88
$\overline{}$	EATON CORP		VLV BLOCK ASSY 160 LPRV(PHANTOM-F		\$955.50	\$2,866.50
$\overline{}$	EATON CORP		C KIT 35VMQ-140 BUNA32ND (BLD RT)	2	\$1,425.06	\$2,850.12
$\overline{}$			M02062AC02AA0100010AG0000AAAAF	4	\$708.71	\$2,834.83
-			A330E10GBNM20	1	\$2,770.40	\$2,770.40
-	EATON CORP		FT 10 3 AS 80503H [5]	4	\$673.88	\$2,695.50
-			C KIT 35VMQ-140 BUNA32ND (BLD LT)	2	\$1,292.38	\$2,584.76
	EATON CORP		3520VQ38A11 11CC20 LH	1	\$2,577.67	\$2,577.67
			M02062AF04AG0200010AD0000ABAAF	4	\$638.27	\$2,553.10
	EATON CORP		DG4V-3-2N-M-FWL-B6-60-EN21	24	\$104.33	\$2,503.87
	EATON CORP		C-KIT 35VMQ-135 BUNA32ND (BLD LT)	2	\$1,231.23	\$2,462.46
	EATON CORP		T MOTOR END CAP NO PORTS	91	\$26.90	\$2,448.03
	EATON CORP		DG4V-3-0A-M-FW-B6-60-EN21	12	\$202.57	\$2,430.79
46	EATON CORP	923111	C KIT 45M 130	1	\$2,251.16	\$2,251.16

	Α	В	С	D	Е	F
					UNIT	
					REPLACE	TOTAL
					MENT	REPLACEM
1	SUPPLIER	PART#	DESCRIPTION	QTY	COST	ENT COST
47	EATON CORP	923111	C KIT 45M 130	1	\$2,251.16	\$2,251.16
48	EATON CORP	422852	COVER C10 MF 422851 C	6	\$368.55	\$2,211.30
49	EATON CORP	407AA00147	1AR60P35S	31	\$70.43	\$2,183.45
50	EATON CORP	02-160876	31431A MANIFOLD ASSY	24	\$90.09	\$2,162.16
	EATON CORP		INLET HOUSING	2	\$1,069.61	\$2,139.23
	EATON CORP		FT 10 2 AS 8048 [5]	4	\$533.44	\$2,133.77
			VFX70m - PROG DSPLY 7"CLR LCD,FRN		\$2,125.03	\$2,125.03
	EATON CORP		HHD543321AB1B1K1K00000B	1	\$2,113.02	\$2,113.02
	EATON CORP		AAWLAA01010AB00000A0B	1	\$2,098.82	\$2,098.82
			2FPH350-P24T-350SV-H24 [5]	1	\$2,085.72	\$2,085.72
	EATON CORP		A6935 SINGLE BODY STEEL -20 SAE 20T		\$230.96	\$2,078.62
	EATON CORP		CVB-42-04-0 SINGLE BODY ALUM -20 SA		\$138.14	\$2,072.07
			M10574AA02AA01000000000000000C	1	\$2,067.16	\$2,067.16
	EATON CORP		HHD543321AG1B0000000A0B	1	\$2,063.88	\$2,063.88
	EATON CORP		CYLINDER BARREL KIT	2	\$1,028.66	\$2,057.33
	EATON CORP		MOTOR DRIVE SHAFT S/A 33/39 FC S-1	5	\$396.40	\$1,981.98
	EATON CORP		HANDLE REPAIR KIT	10	\$194.38	\$1,943.76
	EATON CORP		10K VALVE HOUSING; W/ BEARINGS	3	\$645.92	\$1,937.75
	EATON CORP		SPG.KIT ORB.&TQ.GEN.	30	\$63.34	\$1,900.08
			HMF050CDMR000F10000AA	1	\$1,897.35	\$1,897.35
			V20-6S12S-23C-11-R	3	\$618.62	\$1,855.85
	EATON CORP		2520VQ17C5 11AA20 LH	1	\$1,830.74	\$1,830.74
	EATON CORP		SPOOL TYPE 8C SOFTSHIFT	10	\$182.91	\$1,829.10
	EATON CORP			19	\$95.00	\$1,805.08
	EATON CORP		SHAFT; #2 25VMQ	8	\$223.31	\$1,786.51
			VMQ145S195B00100AACANR00A032	1	\$1,784.87	\$1,784.87
			ESS10M16N250CS60	2	\$889.98	\$1,779.96
			M02049AC01AA0100010AA0000AAAAF	3	\$592.96	\$1,778.87
	EATON CORP		20VQ 8GPM.INCLUDE CORE CHARGE	6	\$293.26	\$1,759.56
	EATON CORP		C KIT 45VMQ-160, BUNA32ND (BLD LT)	1	\$1,738.46	\$1,738.46
	EATON CORP		C KIT 25VMQ-040, BUNA32ND (BLD RT)	2	\$868.69	\$1,737.37
	EATON CORP		C KIT 25VMQ-090 BUNA-N32ND (BLD RT)	2	\$868.69	\$1,737.37
	EATON CORP		C KIT 25VMQ-040 BUNA32ND (BLD RT)	2	\$868.69	\$1,737.37
	EATON CORP		C KIT 25VMQ-045, BUNA32ND (BLD RT)	2	\$868.69	\$1,737.37
	EATON CORP		RT 10 3 S 8043 [5]	4	\$433.52	\$1,734.10
			1 SAE HOUSING STEEL [5]	5	\$341.70	\$1,708.49
	EATON CORP		SV2B-12-4P-0-00	27	\$61.68	\$1,665.25
	EATON CORP		R.H. END CAP	2	\$828.28	\$1,656.56
			ACGRAAA13EE1NN0M00A000A000D	1	\$1,654.93	\$1,654.93
	EATON CORP		SEAL, 25,4 MM [1.00 IN.] ID [10]	50	\$33.09	\$1,654.38
	EATON CORP		SHAFT; #2 3525VMQ	3	\$548.18	\$1,644.55
	EATON CORP		CV11-12-P-0-5	70	\$23.48	\$1,643.46
	EATON CORP		AAGLAF01010BAB0000A0A	1	\$1,625.44	\$1,625.44
			AAERABB00DD2LLAMC1A000B000D	1	\$1,624.90	\$1,624.90
91	EATON CORP	313457-3	25M42A 11C20	1	\$1,615.61	\$1,615.61

	А	В	С	D	Е	F
					UNIT	
					REPLACE	TOTAL
					MENT	REPLACEM
1	SUPPLIER	PART#	DESCRIPTION	QTY	COST	ENT COST
92	EATON CORP	70423-RCT	AAHRAY01010AP00000H0A	1	\$1,581.22	\$1,581.22
93	EATON CORP	02-112933	FT1-8-2-AS-8070	3	\$526.34	\$1,579.03
94	EATON CORP	158-2917-00	MT0030AA01AA0000000000000AA00A	6	\$259.90	\$1,559.38
95	EATON CORP	72400-RBD-0	AAFRBAC23CS2QQ0M00EC00A000D	1	\$1,535.90	\$1,535.90
96	EATON CORP	400AA00001	1SEL140F20S16060B5V	6	\$254.98	\$1,529.89
97	EATON CORP	23382-003	4K VALVE HSG. S/A; 1-1/16 STR.	8	\$191.10	\$1,528.80
98	EATON CORP		C KIT 25VMQ-025, BUNA32ND (BLD LT)	2	\$760.03	\$1,520.06
99	EATON CORP	990348-022	CHARGE PUMP KIT CW 1.28	1	\$1,487.30	\$1,487.30
100	EATON CORP	102778-057	PUMP CONTROL VALVE S/A	2	\$742.56	\$1,485.12
101	EATON CORP	21618-027	SHAFT SUB ASSY 2K	3	\$490.31	\$1,470.92
102	EATON CORP	02-450931	FP3204AA06N	3	\$488.12	\$1,464.37
103	EATON CORP	21850-023	H GEROTER (3.6 CI) [0.40] MAX420	10	\$146.33	\$1,463.28
104	EATON CORP	72400-RBP-0	AADRAAA23EE1TT0M00A000A000D	1	\$1,462.19	\$1,462.19
105	EATON CORP	02-347102-L	C KIT 25VMQ-090 BUNA-N32ND (BLD LT)	1	\$1,451.81	\$1,451.81
106	EATON CORP	02-102572	C KIT 45V42***22(BLD RT)	1	\$1,449.63	\$1,449.63
107	EATON CORP	204-1034-00	ACKSJ1AJ118000000000G	15	\$96.64	\$1,449.63
108	EATON CORP	02-465576	C KIT 25VMQ-020 BUNA32ND (BLD RT)	2	\$724.54	\$1,449.08
109	EATON CORP	403AA00083	S613N	8	\$179.09	\$1,432.70
110	EATON CORP	22250-000	DRIVE	48	\$29.70	\$1,425.72
111	EATON CORP	405AA00073	2FB55P8T55S	8	\$176.90	\$1,415.23
112	EATON CORP	C16434	A877 DUAL BODY STEEL 3/4 SAE 12T	5	\$277.91	\$1,389.57
113	EATON CORP	02-167359	SV2E-20-C-16T-24DU	5	\$276.82	\$1,384.11
114	EATON CORP	8618-034	GEROTOR (MAX 195) 3 72 96	2	\$687.96	\$1,375.92
115	EATON CORP	405AA00096	2FPH195P16T195SV [5]	2	\$685.23	\$1,370.46
116	EATON CORP	405AA00020	2CFD200-220S	10	\$135.41	\$1,354.08
117	EATON CORP	02-333531	DG4V-5-8CJ-VM-U-G6-20-J06	3	\$450.45	\$1,351.35
118	EATON CORP	64501-000	SPG.KIT ORB.&TQ.GEN.	21	\$63.34	\$1,330.06
119	EATON CORP	02-333954	DG4V-3-0A-M-FTWL-D6-60	12	\$108.43	\$1,301.16
120	EATON CORP	02-465685-L	C KIT 35VMQ-090 BUNA32ND (BLD LT)	1	\$1,292.93	\$1,292.93
121	EATON CORP	02-348374	C KIT 35VMQ-140 BUNA32ND (BLD RT)	1	\$1,292.38	\$1,292.38
122	EATON CORP	BXP10708	A877 SINGLE BODY ALUM -16 SAE 16T	14	\$92.27	\$1,291.84
123	EATON CORP	405AA00120	2FR195P16T195S	4	\$315.04	\$1,260.17
124	EATON CORP	26705-DAE	ADMAD05AAA01AC0000000A0A	5	\$250.61	\$1,253.07
125	EATON CORP	923161	C KIT 25M 55	1	\$1,248.70	\$1,248.70
126	EATON CORP	923162	C KIT 25M 65	1	\$1,248.70	\$1,248.70
127	EATON CORP	16294-175	TORX HEAD BOLT 8277-003	142	\$8.72	\$1,238.18
128	EATON CORP	02-355114	EPV-16-A-16-0-12D-S-F-13-S2	3	\$412.23	\$1,236.69
129	EATON CORP	02-136087	DG3V-3-0A-T-7-S-60	5	\$246.79	\$1,233.96
130	EATON CORP	02-144010	DG4V-3-6C-M-FW-D6-60-EN21	12	\$102.72	\$1,232.62
131	EATON CORP	402AA00064	1SB202P6S	13	\$94.46	\$1,227.95
132	EATON CORP	02-326004	EEA PAM 553 A 32	1	\$1,221.95	\$1,221.95
133	EATON CORP	8348-000	CONTROL PARTS ASSEMBLY	2	\$609.88	\$1,219.76
134	EATON CORP	02-166839	SV3E-20-0-0-24DU	5	\$242.97	\$1,214.85
135	EATON CORP	02-199076	SV3E-20-0-0-12DU	5	\$242.97	\$1,214.85
136	EATON CORP	70523-342	REAR PORTED REAR COVER SF	1	\$1,214.30	\$1,214.30

	А	В	С	D	Е	F
					UNIT	
					REPLACE	TOTAL
					MENT	REPLACEM
1	SUPPLIER	PART#	DESCRIPTION	QTY	COST	ENT COST
$\overline{}$	EATON CORP		DPS2-20-T-F-0-80	22	\$55.15	\$1,213.21
	EATON CORP		SHAFT,STR,STD KEY 1	10	\$121.21	\$1,212.12
	EATON CORP		SWASH PLATE	2	\$605.51	\$1,211.03
140	EATON CORP	62506-000	10K VALVE HSG 1-5/16 ORING	3	\$402.95	\$1,208.84
141	EATON CORP	02-390240	DG4V-3-6C-M-U-D6-60-EN21	12	\$99.47	\$1,193.64
	EATON CORP		CM11N02 R25DDE 21	1	\$1,187.00	\$1,187.00
	EATON CORP		PRESS COMP	2	\$589.68	\$1,179.36
	EATON CORP		PRESS COMP	2	\$589.68	\$1,179.36
	EATON CORP		CAP SCREW	311	\$3.79	\$1,178.44
146	EATON CORP	101-2469-00	MH0059AA01AA000000AE00000AA00J	3	\$382.20	\$1,146.60
147	EATON CORP	02-312310	CVCS-32-HFV1-W-S2-10	3	\$377.29	\$1,131.86
148	EATON CORP	8277-026	H GEROTER 17.9 CI -009 [1.59]	4	\$282.83	\$1,131.31
149	EATON CORP	02-137565	C KIT V20*-11-22	3	\$370.73	\$1,112.20
150	EATON CORP	02-102553	C KIT 35V30***22(BLD RT)	1	\$1,109.47	\$1,109.47
151	EATON CORP	23047-000	2K 2SP VALVE	3	\$360.91	\$1,082.72
152	EATON CORP	104-3929-00	M02298AC05AD0100010000000ABAAF	2	\$534.53	\$1,069.07
153	EATON CORP	9900250-009	420 PRESS COMP HIGH RANGE	3	\$348.89	\$1,046.68
154	EATON CORP	406AA00100	1CE100P35S8	11	\$94.46	\$1,039.04
155	EATON CORP	02-346995	C KIT 25VMQ-071, BUNA32ND (BLD RT)	1	\$1,034.12	\$1,034.12
156	EATON CORP	02-346995-L	C KIT 25VMQ-071, BUNA32ND (BLD LT)	1	\$1,034.12	\$1,034.12
157	EATON CORP	363496	SPOOL TYPE 2MF 363496 S	3	\$343.43	\$1,030.30
158	EATON CORP	02-317253	END COVER DG3V*10*A	2	\$510.51	\$1,021.02
159	EATON CORP	202AP00040	CM120 04 TES170 WEM DEM DEM DEM	1	\$1,019.93	\$1,019.93
160	EATON CORP	932954	SHAFT; #6 2525VMQ	2	\$509.42	\$1,018.84
161	EATON CORP	70122-LBU	AAYLAE08000AA00000A0A	1	\$1,016.11	\$1,016.11
162	EATON CORP	158-4119-00	MT0062AA01AA000000AB00000AA00A	2	\$501.23	\$1,002.46
163	EATON CORP	407AA00306	1PA100R20SV	17	\$58.42	\$993.17
164	EATON CORP	990009-022	CHARGE PUMP KIT CW 1.28	1	\$985.53	\$985.53
165	EATON CORP	879282	DG4S4 012A H 60	3	\$326.51	\$979.52
166	EATON CORP	590420	DG16S2 010A 52	2	\$487.58	\$975.16
167	EATON CORP	102EC30400	VFX40m - PROG DSPLY 4.3"CLR LCD,FR	1	\$975.16	\$975.16
168	EATON CORP	112498-000	MOTOR DRIVE SHAFT S/A 33-39 FC S3	2	\$484.85	\$969.70
169	EATON CORP	112498-000	MOTOR DRIVE SHAFT S/A 33-39 FC S3	2	\$484.85	\$969.70
170	EATON CORP	02-138048	DG5V-7-6C-M-U-B6-30	1	\$965.33	\$965.33
171	EATON CORP	109-1337-00	M04381AF03AB020000000000000000F	1	\$959.87	\$959.87
172	EATON CORP	406AA00026	1CE140F30S4	9	\$106.47	\$958.23
173	EATON CORP	8502-004	6K VALVE HSG; 1-5/16 STR. (-005)	3	\$318.32	\$954.95
174	EATON CORP	708-0024-03	VMQ125S040A00100AAAANR00A032	1	\$944.03	\$944.03
175	EATON CORP	BXP10784	A881 SINGLE BODY ALUM -6 SAE 6T	21	\$44.50	\$934.48
176	EATON CORP	70553-305	4.21 L.H. COVER	1	\$917.28	\$917.28
177	EATON CORP	70553-305	4.21 L.H. COVER	1	\$917.28	\$917.28
178	EATON CORP	70553-305	4.21 L.H. COVER	1	\$917.28	\$917.28
179	EATON CORP	502AA00057	HRC2 R1 50 S F00 00 P152C P152C 000	2	\$454.27	\$908.54
180	EATON CORP	114-1065-00	M06239AA00AD04000000002000000F	1	\$905.27	\$905.27
181	EATON CORP	02-165580	RT1-8-2-A-8028	3	\$299.75	\$899.26

	А	В	С	D	Е	F
					UNIT	
					REPLACE	TOTAL
					MENT	REPLACEM
1	SUPPLIER	PART#	DESCRIPTION	QTY	COST	ENT COST
182	EATON CORP	101-2796-009	MH0059AA01AA000000AH00000AA00J	2	\$440.62	\$881.24
183	EATON CORP	02-347013	C KIT 25VMQ-010 BUNA32ND (BLD RT)	1	\$869.23	\$869.23
	EATON CORP		C KIT 25VMQ 063-SHF END32ND (BLD R	1	\$868.69	\$868.69
185	EATON CORP	02-465549	C KIT 25VMQ-050 CVR END32ND (BLD R	1	\$868.69	\$868.69
-			C KIT 25VMQ-050 CVR END32ND (BLD L1	1	\$868.69	\$868.69
			C KIT 25VMQ-040,BUNA32ND (BLD LT)	1	\$868.69	\$868.69
	EATON CORP		SHAFT END COVER	1	\$866.50	\$866.50
	EATON CORP		VALVE BLOCK;L/H T/DRIVE	1	\$859.40	\$859.40
			BODY S/A 1PAC65-	13	\$66.07	\$858.86
	EATON CORP			10	\$85.72	\$857.22
	EATON CORP		W SERIERS INTERNAL CHECK POPPET	98	\$8.72	\$854.52
	EATON CORP		SHAFT; #111 3525VQ	4	\$208.57	\$834.29
	EATON CORP		A877 DUAL BODY STEEL 3/4 SAE 12T	3	\$277.91	\$833.74
195	EATON CORP	998733	BODY, 35VMQ, 30TH	1	\$828.83	\$828.83
196	EATON CORP	401AA00005	4CKD901S	11	\$74.26	\$816.82
197	EATON CORP	5992823-003	END COVER ASSEMBLY	1	\$814.09	\$814.09
198	EATON CORP	104238-000	PISTON/SHOE HD 46 S/A (104237-000 & 1	9	\$89.54	\$805.90
199	EATON CORP	62506-000	10K VALVE HSG 1-5/16 ORING	2	\$402.95	\$805.90
200	EATON CORP	BXP10630	A6935 SINGLE BODY ALUM -20 SAE 20T	7	\$114.11	\$798.80
201	EATON CORP	263-1003-082	ABV35A480EA10007BAABK3A0AA10B	1	\$786.24	\$786.24
202	EATON CORP	02-171893	NV1-8-S-0	57	\$13.65	\$778.05
203	EATON CORP	934296	PVH131 40 B FLANGE ADAPTER	4	\$193.83	\$775.32
	EATON CORP		SV2E-20-C-0-12DU	5	\$154.52	\$772.59
205	EATON CORP	102EC21500	HFX32m-PRG CNTRLR HI-PRF32I/O,32BI	1	\$772.59	\$772.59
206	EATON CORP	349169	DGFN 06 50	2	\$384.93	\$769.86
207	EATON CORP	02-347005-L	C-KIT 25VMQ-032 BUNA32ND (BLD LT)	1	\$760.03	\$760.03
208	EATON CORP	02-347007	C KIT 25VMQ-025, BUNA32ND (BLD RT)	1	\$760.03	\$760.03
209	EATON CORP	02-347007	C KIT 25VMQ-025, BUNA32ND (BLD RT)	1	\$760.03	\$760.03
210	EATON CORP	02-347011	C KIT 25VMQ-016 BUNA-N32ND (BLD RT)	1	\$760.03	\$760.03
	EATON CORP		SEAL; PLAIN ENCASED [10]	12	\$63.34	\$760.03
			VMQ125S025A00900AACANL00A032	1	\$755.12	\$755.12
			1CE140F20S4	7	\$106.47	\$745.29
214	EATON CORP	22250-000	DRIVE	25	\$29.70	\$742.56
215	EATON CORP	109-1113-00	M04240AB02AB020000000000000000F	1	\$737.10	\$737.10
			1 - 3/4 13 TOOTH VMQ24525S (06)	2	\$368.00	\$736.01
217	EATON CORP	4997070-001	4997070-001 2K	6	\$121.21	\$727.27
218	EATON CORP	8507-006	6K GEROLER	1	\$725.63	\$725.63
219	EATON CORP	02-465565-L	C KIT 25VMQ-016, BUNA32ND (BLD LT)	1	\$724.54	\$724.54
220	EATON CORP	02-465566	C KIT 25VMQ-020 BUNA32ND (BLD RT)	1	\$724.54	\$724.54
			C KIT 25VMQ-020 BUNA32ND (BLD LT)	1	\$724.54	\$724.54
222	EATON CORP	02-465568	C KIT 25VMQ-032, BUNA32ND (BLD RT)	1	\$724.54	\$724.54
223	EATON CORP	403AA00083	S613N	4	\$179.09	\$716.35
224	EATON CORP	02-102511	C KIT **20V14*-**22(BLD LT)	1	\$711.44	\$711.44
225	EATON CORP	405AA00073	2FB55P8T55S	4	\$176.90	\$707.62
226	EATON CORP	421588	C KIT F3**20VQ **5(BLD LT)	1	\$702.16	\$702.16

	А	В	С	D	Е	F
					UNIT	
					REPLACE	TOTAL
					MENT	REPLACEM
1	SUPPLIER	PART#	DESCRIPTION	QTY	COST	ENT COST
227	EATON CORP	16294-188	TORX HEAD BOLT	74	\$9.45	\$699.39
228	EATON CORP	407AA00356	1PD20P12S	8	\$87.36	\$698.88
229	EATON CORP	9900250-009	420 PRESS COMP HIGH RANGE	2	\$348.89	\$697.79
230	EATON CORP	9900250-032	PRES AND FLOW COMP 420 KIT	2	\$348.89	\$697.79
231	EATON CORP	109-1312-000	M04125AB03AA010000000000000000F	1	\$693.97	\$693.97
232	EATON CORP	02-178159	SC240APP00 COIL	10	\$69.34	\$693.42
233	EATON CORP	BXP24046-8	A12088 SINGLE BODY ALUM -8 SAE 8T	7	\$98.83	\$691.78
234	EATON CORP	7360-070	SHAFT, STR, 1 W/ XHOLE (CTRLI)	5	\$138.14	\$690.69
235	EATON CORP	21564-007	2K VALVE HSG 1/2 BSP & 1/4 BSP	5	\$137.05	\$685.23
236	EATON CORP	14628-005	SL. SEAL	78	\$8.72	\$680.13
237	EATON CORP	C10629	A877 DUAL BODY ALUM -12 SAE 12T	4	\$169.26	\$677.04
	EATON CORP		KTG4V-3S-2B08N-M-U1-H5-60-EN427	2	\$336.88	\$673.76
239	EATON CORP	977468	RECEPTACLE	12	\$55.69	\$668.30
240	EATON CORP	942169	PVB 20 END COVER	1	\$666.67	\$666.67
241	EATON CORP	363498	SPOOL TYPE 6MF 363498 S	2	\$329.78	\$659.57
242	EATON CORP	02-181442	SV3E-16-0-0-24DU	3	\$217.85	\$653.56
243	EATON CORP	212-1071-002	ABU55A640CA010000DAAC3A0AA10B	1	\$653.02	\$653.02
244	EATON CORP	990355-022	CHARGE PUMP KIT CCW 1.28	1	\$647.01	\$647.01
245	EATON CORP	62006-000	10K VALVE HOUSING; W/ BEARINGS	1	\$645.92	\$645.92
246	EATON CORP	382087-5	V10 1P7P 1A20 LH	2	\$321.59	\$643.19
247	EATON CORP	407AA00295	1PAC65P8T20S	4	\$159.98	\$639.91
248	EATON CORP	937007	SCREW; .500-13X10.5 HHC [20]	24	\$26.62	\$638.95
249	EATON CORP	8618-033	GEROTOR (MAX 165) 5 80 105	1	\$638.82	\$638.82
250	EATON CORP	8482-000	10K SHAFT S/A 2-1/4 16T INV SPL	1	\$635.54	\$635.54
251	EATON CORP	407AA00142	1AR60P10S	9	\$70.43	\$633.91
252	EATON CORP	104978-000	PLATE VALVE HD 39 CCW(103230-998)	2	\$316.68	\$633.36
253	EATON CORP	105095-000	PLATE VALVE HD 64 PROPELCW (10509	2	\$316.68	\$633.36
254	EATON CORP	998836	OUTLET HOUSING	1	\$630.63	\$630.63
255	EATON CORP	02-315056	SA CPLG SAE'C' TO SAE'C'	2	\$313.95	\$627.90
256	EATON CORP	579783-3	V20 6S9S 23C11	1	\$618.62	\$618.62
257	EATON CORP	02-200522	3V3B-12-4P-0-00ValV	10	\$61.70	\$616.98
258	EATON CORP	990003-001	BLANKING PLATE KIT 33 64 MOTOR	2	\$307.94	\$615.89
259	EATON CORP	401AA00078	4CKK346TS	6	\$102.65	\$615.89
260	EATON CORP	02-111545	COIL UDN 220VAC 60	9	\$68.25	\$614.25
261	EATON CORP	101077-000	PISTON/SHOE HD 54 S/A(102692-000 &10	9	\$68.25	\$614.25
262	EATON CORP	977466	RECEPTACLE	11	\$55.69	\$612.61
263	EATON CORP	70300-413	BACKPLATE ASSY	1	\$609.88	\$609.88
264	EATON CORP	932890	SHAFT; #1 25VMQ	2	\$304.67	\$609.34
265	EATON CORP	8464-011	4K GEROLER 38.0 CI (3.20)	1	\$605.51	\$605.51
266	EATON CORP	14410-003	10K BOLT	26	\$22.87	\$594.67
267	EATON CORP	308816	RING 130 GPM 45M	1	\$594.59	\$594.59
268	EATON CORP	107161-022	CHARGE PUMP S/A CCW 2.12	1	\$593.50	\$593.50
269	EATON CORP	02-198954	DPC11-12-P-A8H	4	\$147.97	\$591.86
270	EATON CORP	70523-FT	PRESS COMP	1	\$589.68	\$589.68
271	EATON CORP	02-178045	SC120APH00 COIL	8	\$73.16	\$585.31

	А	В	С	D	E	F
					UNIT	
					REPLACE	TOTAL
					MENT	REPLACEM
1	SUPPLIER	PART#	DESCRIPTION	QTY	COST	ENT COST
272	EATON CORP	16294-275	TORX HEAD BOLT	67	\$8.72	\$584.21
273	EATON CORP	4993357-001	SHAFT; #6 SAE D SPLINEDVMQ	2	\$291.56	\$583.13
	EATON CORP		31174A MANIFOLD ASSY-STEE	7	\$82.99	\$580.94
-	EATON CORP		PRESS AND FLOW COMP	1	\$578.21	\$578.21
$\overline{}$	EATON CORP		1PD20R12S	6	\$95.00	\$570.02
	EATON CORP		Compensator Kit - PVH	1	\$569.48	\$569.48
	EATON CORP		SHAFT; #19 35VQ	1	\$565.66	\$565.66
\vdash	EATON CORP		KTG4V-3-33B07N-Z-M-U-H7-60	1	\$561.83	\$561.83
			1 -1/2 KEYED VMQ24525S (01)	2	\$280.10	\$560.20
			V20F-1P12P-38C8D-22-R	1	\$555.83	\$555.83
			PUMP DRIVE SHAFT S/A 54/64 S3	1	\$550.37	\$550.37
283	EATON CORP	102EC21400	HFX20m-PRG CNTRLR HI-PRF20I/O,32BI	1	\$547.64	\$547.64
	EATON CORP		FDC3-10-6T-44	6	\$91.18	\$547.09
285	EATON CORP		ACMAR050101AB0101160000A0000000B	1	\$547.09	\$547.09
286	EATON CORP	113305-000	SHAFT HD 54/64 1.5" DIATAPERED PUMF	1	\$544.91	\$544.91
287	EATON CORP	02-141964-3	V20F-1P8P-1C6D-22-R	1	\$540.54	\$540.54
288	EATON CORP	275448	BEARING	9	\$59.51	\$535.63
289	EATON CORP	72401-AS	SERVO CONTROL MANUALREPLS 72401	1	\$534.53	\$534.53
290	EATON CORP	5987377-002	COUPLER; 26/11 TOOTH (420)	1	\$529.62	\$529.62
291	EATON CORP	4993374-001	1 -1/4 14 TOOTH VMQ24535S (09)	1	\$527.44	\$527.44
292	EATON CORP	16294-200	TORX HEAD BOLT	60	\$8.72	\$523.18
293	EATON CORP	60032-000	H SEAL KIT (007) (VITON)	8	\$64.97	\$519.79
294	EATON CORP	DZ2224A	ME MOTOR COMP SEAL KIT	4	\$129.40	\$517.61
295	EATON CORP	385515-2	V10F 1S4T 4B2G 20	1	\$516.52	\$516.52
296	EATON CORP	102639-000	HI-LD SERVO PISTON S/APUMP 76	2	\$257.71	\$515.42
297	EATON CORP	113350-000	MOTOR DRIVE SHAFT S/A 54/64 S3	1	\$514.88	\$514.88
298	EATON CORP	16294-288	TORX HEAD BOLT	58	\$8.72	\$505.74
299	EATON CORP	406AA00959.	1CEBD120-F-35S-3	4	\$126.13	\$504.50
300	EATON CORP	405AA00084	2FP195P16T195S	1	\$503.96	\$503.96
301	EATON CORP	BXP241476T	S-ASSY 1CEE35-6T	8	\$62.79	\$502.32
302	EATON CORP	B10630	A6935 SINGLE BODY ALUM -20 SAE 20T	4	\$125.58	\$502.32
303	EATON CORP	102681-000	PLATE RETAINER HD SERIES0 76 (10179	1	\$501.77	\$501.77
304	EATON CORP	70423-303	BACK PLATE ASSEMBLY	1	\$499.04	\$499.04
305	EATON CORP	379543	SA V10F 2 GPM P COVER	2	\$248.43	\$496.86
306	EATON CORP	74109-301	HOUSING ASSY	1	\$496.86	\$496.86
307	EATON CORP	74100-315	BACK PLATE ASSEMBLY 3/4 SIDE PORT	1	\$494.68	\$494.68
308	EATON CORP	02-200522	3V3B-12-4P-0-00ValV	8	\$61.70	\$493.58
309	EATON CORP	251263	HOUSING; 2520V	1	\$490.85	\$490.85
310	EATON CORP	932936	SHAFT; #2 2525VMQ	1	\$488.12	\$488.12
311	EATON CORP	BXP11812	A6610 DUAL BODY STEEL -8 SAE 8T	5	\$97.19	\$485.94
312	EATON CORP	4993463-001	ROTATING GROUP 3.0	1	\$481.57	\$481.57
313	EATON CORP	7358-000	H SERIES PLATE SPACER (ST)	41	\$11.72	\$480.40
314	EATON CORP	101785-000	PLATE VALVE HD 76 PUMPCCW (101799	1	\$476.11	\$476.11
315	EATON CORP	565611	21121 LEVER ASSEMBLY=16	6	\$79.17	\$475.02
316	EATON CORP	357292	BODY; INNER V2010 SA	1	\$467.92	\$467.92

	Α	В	С	D	E	F
					UNIT	
					REPLACE	TOTAL
					MENT	REPLACEM
1	SUPPLIER	PART#	DESCRIPTION	QTY	COST	ENT COST
$\overline{}$			620AK 9T COUPLER	8	\$58.42	\$467.38
	EATON CORP		RING 14 25VQ	2	\$232.60	\$465.19
	EATON CORP		SEAL KIT	5	\$92.82	\$464.10
			S-ASSY 1PDC25-6T	8	\$57.88	\$463.01
	EATON CORP		A6935 SINGLE BODY STEEL -20 SAE 20T	2	\$230.96	\$461.92
	EATON CORP		KDG4V-3S-2C19N-M-U1-H5-60	1	\$461.37	\$461.37
$\overline{}$			S2 ADJUSTABLE P.O.R. VALVE S/A	1	\$461.37	\$461.37
$\overline{}$	EATON CORP		A20081 DUAL BODY ALUM -16 SAE 16T	3	\$153.43	\$460.28
$\overline{}$			PUMP DRIVE SHAFT S/A 54/6	1	\$459.73	\$459.73
$\overline{}$	EATON CORP		PRV11-12-K-0-30/	9	\$51.06	\$459.51
			M02149AF02AA0100010000000AAAAF	1	\$459.19	\$459.19
328	EATON CORP	304AA00049	PTS11-10N-0-160-00	5	\$91.78	\$458.89
	EATON CORP		SC120APP00 COIL	7	\$65.52	\$458.64
330	EATON CORP	6740-000	10K VALVE HOUSING W/ NO BEARINGS	1	\$458.64	\$458.64
331	EATON CORP	937454	COUPLING; 21T TO 9T	1	\$455.91	\$455.91
332	EATON CORP	258249	SHAFT; #1 3520V	1	\$450.45	\$450.45
333	EATON CORP	74300-409	BACKPLATEASSYREARTOPWOCASE	1	\$449.90	\$449.90
334	EATON CORP	407502-2	V20 1P9P 15B11	1	\$449.36	\$449.36
335	EATON CORP	200-0289-002	ADRA31A61ACA00010000AAAAA3AAA10	1	\$447.72	\$447.72
336	EATON CORP	02-198954	DPC11-12-P-A8H	3	\$147.97	\$443.90
337	EATON CORP	6022840-002	EATON 620 SWASHPLATE	1	\$442.26	\$442.26
338	EATON CORP	934462	SHAFT #13 PVH131 40	1	\$440.62	\$440.62
339	EATON CORP	105054-000	PUMP DR SHAFT S/A	1	\$440.08	\$440.08
340	EATON CORP	105054-000	PUMP DR SHAFT S/A	1	\$440.08	\$440.08
341	EATON CORP		SHAFT;#2 SAE C-C SPLINEDVMQT	1	\$438.44	\$438.44
342	EATON CORP	02-310275	KDG4V-3S-2C15N-M-U-H5-60	1	\$437.89	\$437.89
343	EATON CORP	4993556-001	ROTATING GROUP 41CC	1	\$437.89	\$437.89
344	EATON CORP	02-181442	SV3E-16-0-0-24DU	2	\$217.85	\$435.71
345	EATON CORP	113338-000	SHAFT HD 54/64 MOTOR S/A	1	\$432.43	\$432.43
	EATON CORP		SHAFT HD 54/64 MOTOR S/A	1	\$432.43	\$432.43
	EATON CORP		SHAFT HD 54/64 MOTOR S/A	1	\$432.43	\$432.43
	EATON CORP		VALVE PLATE (MR) PVM18	3	\$143.60	\$430.79
	EATON CORP		END COVER L.H.	1	\$430.79	\$430.79
			1PAA95-R-12T-20S	1	\$430.25	\$430.25
351	EATON CORP	DZ2225A	ME MOTOR COMP SEAL KIT	3	\$143.05	\$429.16
352	EATON CORP	990091-000	PV SEALING O HAUL KIT	2	\$213.49	\$426.97
353	EATON CORP	105575-000	PUMP DRIVE SHAFT S/A	1	\$422.06	\$422.06
354	EATON CORP	02-160808	31168A MANIFOLD ASSY-STEE	5	\$84.08	\$420.42
355	EATON CORP	VMQ125S09	VMQ125S090A00200AACANR00A032	1	\$420.00	\$420.00
356	EATON CORP	02-334559	S KIT 45VMQ, SSS, VITON	2	\$208.57	\$417.14
357	EATON CORP	4993372-001	SHAFT;SAE D SPLINED #6VMQT	1	\$417.14	\$417.14
358	EATON CORP	401AA00013	5CK301S2	13	\$32.00	\$415.94
359	EATON CORP	14384-004	2K BOLT	47	\$8.81	\$414.18
360	EATON CORP	21564-001	2K VALVE HSG 7/8-14 ORB -7/16-20	3	\$137.05	\$411.14
361	EATON CORP	943365	VALVE PLATE - PVM74	2	\$204.75	\$409.50

	А	В	С	D	E	F
					UNIT	
					REPLACE	TOTAL
					MENT	REPLACEM
1	SUPPLIER	PART#	DESCRIPTION	QTY	COST	ENT COST
	EATON CORP		SHAFT; #1 3525V	1	\$405.68	\$405.68
363	EATON CORP	02-160809	31169A MANIFOLD ASSY-STEE	5	\$80.26	\$401.31
	EATON CORP		TORX HEAD BOLT	46	\$8.72	\$401.10
			DRIVE SHAFT DUAL SEAL; TANDEM(420)	2	\$199.84	\$399.67
			1 - 3/4 13 TOOTH VMQ24535S (06)	1	\$399.67	\$399.67
	EATON CORP		ENCAP COIL & FRAME S/A	5	\$79.72	\$398.58
\vdash	EATON CORP		DICPFS-12-05-10	1	\$397.49	\$397.49
\vdash	EATON CORP		SCREW,SOCKET FLATHEAD	45	\$8.81	\$396.56
$\overline{}$	EATON CORP		F3 V10 1P4S 1C20	1	\$395.85	\$395.85
	EATON CORP		V20 1P13P 11C11	1	\$395.30	\$395.30
\vdash	EATON CORP		S2 PUMP DRIVE SHAFT S/A33/39/46 S2	1	\$393.12	\$393.12
\vdash			ADRA72A52AAB00050000AAAAA3AAA10I	1	\$387.66	\$387.66
	EATON CORP		PRV11-12-S-A-12T-15/	4	\$96.79	\$387.18
	EATON CORP		DRIVE SHAFT	1	\$387.11	\$387.11
\vdash	EATON CORP		COMPENSATOR KIT PVH45 40	1	\$386.57	\$386.57
	EATON CORP		C KIT V20*-10-22	1	\$384.93	\$384.93
	EATON CORP		S/A RELIEF VALVE 250 PSI	5	\$76.44	\$382.20
379	EATON CORP	02-184009	CBV1-10-S-DA8T-A-50/34	1	\$379.22	\$379.22
380	EATON CORP	02-152006	C KIT V20**-7-30	1	\$376.74	\$376.74
381	EATON CORP		C KIT V20**-11-30	1	\$376.74	\$376.74
	EATON CORP		DR SHF SPL	1	\$376.19	\$376.19
			ADU000000000C28000000000000000B	1	\$374.56	\$374.56
384	EATON CORP	02-176432	MRV6-10-E-0	5	\$74.81	\$374.04
			MH0451AA01AB00A0000000000AA00J	1	\$372.37	\$372.37
	EATON CORP		C KIT V20*-6-22	1	\$370.73	\$370.73
387	EATON CORP	02-137560	C KIT V20*-6-22	1	\$370.73	\$370.73
	EATON CORP		C KIT V20*-6-22	1	\$370.73	\$370.73
	EATON CORP		C KIT V20*-7-22	1	\$370.73	\$370.73
390	EATON CORP	02-137563	C KIT V20*-9-22	1	\$370.73	\$370.73
	EATON CORP		BK PL SIDE PORTS (BQR)	5	\$73.71	\$368.55
	EATON CORP		C16-4 BODY FR -12 SAE A 12H	5	\$73.71	\$368.55
	EATON CORP		MOTOR DRIVE SHAFT S/A	1	\$367.46	\$367.46
	EATON CORP		S KIT 2525VMQ, SSS, VITON	2	\$182.91	\$365.82
\vdash	EATON CORP		BK PL ASY	1	\$365.82	\$365.82
	EATON CORP		SEAL KIT	3	\$121.76	\$365.27
	EATON CORP		SHAFT #297 25VQ	1	\$364.18	\$364.18
\vdash			B-PAD COVER DUAL	1	\$361.45	\$361.45
_			4997062-001 HST	4	\$90.09	\$360.36
			DRIVE SHAFT DUAL SEAL; TANDEM(420		\$179.63	\$359.27
	EATON CORP		LEFT AND RIGHT COMP PC	1	\$357.63	\$357.63
\vdash			2FB95-P12T-95S	2	\$178.54	\$357.08
			POWER LIMITER VALVE	2	\$178.00	\$355.99
			1CE150P12T35S4	2	\$178.00	\$355.99
	EATON CORP		BODY; 6S V10	2	\$178.00	\$355.99
406	EATON CORP	22190-000	H DRIVE 14.1 CI (009)	8	\$44.23	\$353.81

	Α	В	С	D	Е	F
					UNIT	
					REPLACE	TOTAL
					MENT	REPLACEM
1	SUPPLIER	PART#	DESCRIPTION	QTY	COST	ENT COST
407	EATON CORP	566719	SV3E-10-0-0-24DU	2	\$176.36	\$352.72
408	EATON CORP	566719	SV3E-10-0-0-24DU	2	\$176.36	\$352.72
409	EATON CORP	4997172-001	SWASH PLATE (PVE)	1	\$351.62	\$351.62
410	EATON CORP	4993375-001	1 -1/4 14 TOOTH VMQ24525S (09)	1	\$349.44	\$349.44
411	EATON CORP	9900250-009	420 PRESS COMP HIGH RANGE	1	\$348.89	\$348.89
412	EATON CORP	9900250-010	SERVICE COMPENSATOR KIT	1	\$348.89	\$348.89
	EATON CORP		TORX HEAD BOLT	40	\$8.72	\$348.78
414	EATON CORP	A10780	CVA20-01-0 SINGLE BODY ALUM -6 SAE	13	\$26.70	\$347.09
415	EATON CORP	26709-DAB	ADMAD09ATB01AB000000000A	1	\$345.62	\$345.62
416	EATON CORP	21373-004	6K MAIN DRIVE (23.9 CI) [5.00]	4	\$86.27	\$345.07
417	EATON CORP	8618-026	GEROTOR 17.9 CI - 4 FIRM 7	1	\$345.07	\$345.07
418	EATON CORP	990098-001	SEAL KIT	2	\$170.90	\$341.80
419	EATON CORP	CXP22496-1	1 SAE HOUSING STEEL [5]	1	\$341.70	\$341.70
420	EATON CORP	CXP22496-1	1 SAE HOUSING STEEL [5]	1	\$341.70	\$341.70
421	EATON CORP	02-325281	CVCS-25-AD1-S2-W-10-NC-A08	1	\$341.25	\$341.25
422	EATON CORP	21047-001	CAP SCREW	90	\$3.79	\$341.03
423	EATON CORP	16294-225	TORX HEAD BOLT	39	\$8.72	\$340.06
424	EATON CORP	4993359-001	1 -1/2 17 TOOTH VMQ24535S (02)	1	\$339.61	\$339.61
425	EATON CORP	591059-1	V10 1P4P 38A20	1	\$338.52	\$338.52
426	EATON CORP	60579-000	SEAL KIT HIGH PSI (BUNA)	10	\$33.74	\$337.43
427	EATON CORP	02-169117	FR1-20-F-0-35	3	\$112.48	\$337.43
428	EATON CORP	104198-000	PLATE BEARING HD SERIES2 46 (50364-	1	\$334.70	\$334.70
429	EATON CORP	02-177250	MRV4-16-D2-0	2	\$165.64	\$331.28
430	EATON CORP	313428	RING 65 25M	1	\$329.78	\$329.78
431	EATON CORP	8277-027	6 204 300 (MAX 498) GEROTER	1	\$329.78	\$329.78
432	EATON CORP	114241-012	SOLENOID COIL S2 12V	1	\$328.15	\$328.15
433	EATON CORP	70142-359	ADAPTER ASSEMBLY	1	\$327.60	\$327.60
434	EATON CORP	02-137559	C KIT V20*-5-22	1	\$327.05	\$327.05
435	EATON CORP	158-1064-00°	MT0226BA02AA0000000000000AA00A	1	\$326.51	\$326.51
436	EATON CORP	104040-000	SHAFT CONTROL HD(100005-056)	4	\$81.35	\$325.42
437	EATON CORP	02-160812	31122A MANIFOLD ASSY-CBVX	5	\$64.97	\$324.87
438	EATON CORP	102038	LOCKING RING	12	\$27.03	\$324.39
439	EATON CORP	26410-RAB	ACNAR10ABAD0800000000A0A	1	\$323.78	\$323.78
440	EATON CORP	201726-001	SPEED SENSOR W/24IN	1	\$323.23	\$323.23
441	EATON CORP	C11564	A6935 DUAL BODY STEEL -20 SAE 20T	1	\$323.23	\$323.23
442	EATON CORP	02-305719-1	V10-1P1S-11A-20	1	\$321.59	\$321.59
443	EATON CORP	23310-015	BRG & SHAFT 006 1-1/4 KYD X 3.03	1	\$321.59	\$321.59
444	EATON CORP	382082-5	V10 1P4P 1A20 LH	1	\$321.59	\$321.59
445	EATON CORP	382083-1	V10 1P4S 11A20	1	\$321.59	\$321.59
446	EATON CORP	382086-1	V10 1P6P 1A20	1	\$321.59	\$321.59
447	EATON CORP	387500-7	V10 1S6S 1C20 LH	1	\$321.59	\$321.59
448	EATON CORP	16294-188	TORX HEAD BOLT	34	\$9.45	\$321.34
449	EATON CORP	02-348245	PVE COMPENSATOR KIT	1	\$319.41	\$319.41
450	EATON CORP	21268-102	FLANGE	4	\$79.72	\$318.86
451	EATON CORP	25501-RAH	ABFAR01AK1300000000000A	1	\$317.77	\$317.77

	Α	В	С	D	E	F
					UNIT	
					REPLACE	TOTAL
					MENT	REPLACEM
1	SUPPLIER	PART#	DESCRIPTION	QTY	COST	ENT COST
452	EATON CORP	70402-242	DR SHF SPL (CHG A)	1	\$317.77	\$317.77
453	EATON CORP	105103-000	PLATE VALVE HD 54 PUMPCCW (105104	1	\$316.68	\$316.68
454	EATON CORP	4998070-001	SHAFT # 11 4525V	1	\$316.68	\$316.68
455	EATON CORP	405AA00120.	2FR195P16T195S	1	\$315.04	\$315.04
456	EATON CORP	626068	DGSME 01 20 T8 (D05 SUBPLATE)	3	\$104.83	\$314.50
457	EATON CORP	103-1465-012	MS0101AA24AF02000000000000AA00M	1	\$313.40	\$313.40
458	EATON CORP	02-390511	COIL 12V DC WEATHER	5	\$62.24	\$311.22
459	EATON CORP	158-1063-00°	MT0187BA02AA0000000000000AA00A	1	\$311.22	\$311.22
460	EATON CORP	70411-604	COUPLER	5	\$61.70	\$308.49
461	EATON CORP	02-198697	SV9-8-E-0-12DGP	5	\$61.65	\$308.24
462	EATON CORP	02-198697	SV9-8-E-0-12DGP	5	\$61.65	\$308.24
463	EATON CORP	694411	DGMFN 3 Y A1W B1W 41	2	\$153.43	\$306.85
464	EATON CORP	02-323432	DG4V-3-2N-H-M-U6-B6-60	1	\$306.85	\$306.85
465	EATON CORP	14386-011	4K BOLT	24	\$12.75	\$306.11
466	EATON CORP	02-334431	BEARING SUB/ASSYPVM74/98,620	4	\$76.44	\$305.76
467	EATON CORP	103-1560-012	MS0088AA02AC0000000000000AA00M	1	\$305.21	\$305.21
468	EATON CORP	16294-275	TORX HEAD BOLT	35	\$8.72	\$305.19
469	EATON CORP	16294-350	TORX HEAD BOLT	35	\$8.72	\$305.19
470	EATON CORP	932893	SHAFT; #5 25VMQ	1	\$304.67	\$304.67
471	EATON CORP	5993712-001	6 GPM VTM42 CART KIT	1	\$304.12	\$304.12
472	EATON CORP	616-000	H DRIVE. 6.2 CI THRU 23.8 CI	10	\$30.30	\$303.03
473	EATON CORP	4995014-001	SPLINEDDRIVESHAFT	2	\$151.24	\$302.48
474	EATON CORP	920208	SEAL KIT	1	\$302.48	\$302.48
475	EATON CORP	103-1545-012	MS0088AA01AC0000000000000AA00M	1	\$297.57	\$297.57
476	EATON CORP	307AA00294.	PSV4-10-F-0-5/2	8	\$37.02	\$296.19
477	EATON CORP	405AA00129.	2FR55R8T55S-AT	2	\$147.97	\$295.93
478	EATON CORP	21578-001	2K BRG HSG 2 BOLT FLANGE SAE B	2	\$147.42	\$294.84
479	EATON CORP	14409-009	6K BOLT	21	\$14.04	\$294.79
480	EATON CORP	103817-000	PLATE RETAINER HD SERIES2 64 (10381	1	\$293.75	\$293.75
481	EATON CORP	103817-000	PLATE RETAINER HD SERIES2 64 (10381	1	\$293.75	\$293.75
482	EATON CORP	103817-000	PLATE RETAINER HD SERIES2 64 (10381	1	\$293.75	\$293.75
483	EATON CORP	BXP11489	BODY 1DDR35-6T	4	\$73.16	\$292.66
484	EATON CORP	858995	0858995 SEAL KIT	17	\$17.09	\$290.53
485	EATON CORP	379792	CONTROL PISTON ROD (DWNG 379792)	2	\$145.24	\$290.47
486	EATON CORP	408322	SPRING	6	\$48.38	\$290.25
487	EATON CORP	02-177837	RV6-10-K-0-50/	11	\$26.33	\$289.67
488	EATON CORP	02-334433	SHAFT SEAL KIT PVH74/PVH98 50	1	\$289.38	\$289.38
489	EATON CORP	566313	DPS2-10-R-F-0-80	11	\$26.21	\$288.29
490	EATON CORP	572653	DGSM 01 20 T8	4	\$72.07	\$288.29
491	EATON CORP	23382-002	4K VALVE HSG. S ASSY	1	\$287.20	\$287.20
492	EATON CORP	23382-002	4K VALVE HSG. S ASSY	1	\$287.20	\$287.20
-			RBA330578BNM20	1	\$286.65	\$286.65
494	EATON CORP	934298	PVH131 40 C FLANGE ADAPTER	1	\$285.56	\$285.56
495	EATON CORP	7360-005	SHAFT OUTPUT 1 W/.250 HOLE	2	\$142.51	\$285.01
496	EATON CORP	405AA00145.	2CFP60P6S	5	\$56.78	\$283.92

	А	В	С	D	Е	F
					UNIT	
					REPLACE	TOTAL
					MENT	REPLACEM
1	SUPPLIER	PART#	DESCRIPTION	QTY	COST	ENT COST
497	EATON CORP	B19402	A12370 SINGLE BODY ALUM -8 SAE 8T	11	\$25.80	\$283.84
498	EATON CORP	103-2811-012	MS0057BA07AB0000000000000AA00M	1	\$283.37	\$283.37
499	EATON CORP	101333-000	GASKET-PORTING PLATE-FLSTK	56	\$5.03	\$281.60
500	EATON CORP	158-1061-00	MT0119BA02AA0000000000000AA00A	1	\$281.19	\$281.19
501	EATON CORP	21625-001	2K GEROLER (4.9 CI) [0.70]	1	\$280.64	\$280.64
	EATON CORP		HOUSING EXTERNAL DISCHARGE PORT	1	\$280.64	\$280.64
\vdash	EATON CORP		PLATE RETAINER HD SERIES2 54 (10385	1	\$279.55	\$279.55
\vdash	EATON CORP		4K VLV HSG FOR SHUTTLE VLV; 7/8 -14	1	\$279.55	\$279.55
	EATON CORP		W SERIERS INTERNAL CHECK POPPET	32	\$8.72	\$279.03
	EATON CORP		OVERHAUL GASKET KIT	5	\$55.69	\$278.46
	EATON CORP		A877 SINGLE BODY ALUM -16 SAE 16T	3	\$92.27	\$276.82
508	EATON CORP	16294-212	TORX HEAD BOLT	31	\$8.72	\$270.31
	EATON CORP		PRV12-12-K-0-30/	5	\$54.03	\$270.13
510	EATON CORP	565624	PTS1-20-0-80	2	\$133.58	\$267.17
511	EATON CORP	216239	PISTON MF 522903 B	3	\$88.45	\$265.36
512	EATON CORP	870926	DG4V 3 6C M U1 H7 60	1	\$265.36	\$265.36
513	EATON CORP	923468	C KIT V10 5	1	\$264.26	\$264.26
514	EATON CORP	923470	C KIT V10 2GPM	1	\$264.26	\$264.26
515	EATON CORP	02-178158	SC120APP00 COIL	4	\$65.52	\$262.08
516	EATON CORP	4993353-001	SHAFT #1 KEYED SAE 1.50	1	\$262.08	\$262.08
517	EATON CORP	565625	PTS7-10-0-80	10	\$26.12	\$261.21
518	EATON CORP	353901	RING 12 GPM 20VQ VHO	1	\$260.99	\$260.99
519	EATON CORP	942470	COIL KIT	1	\$260.99	\$260.99
520	EATON CORP	26005-207	STR DRIVE GEAR S/A	3	\$86.81	\$260.44
521	EATON CORP	937244	PVE MAX VOLUME STOP	1	\$260.44	\$260.44
522	EATON CORP	02-200663	MSCD-8787-08Active:	1	\$257.71	\$257.71
523	EATON CORP	32060-YA	REL VALVE ASSY 3750 PSI	1	\$257.17	\$257.17
524	EATON CORP	893229	LIGHT KIT 120 VAC	5	\$51.32	\$256.62
525	EATON CORP	402690	ROTOR 20V	1	\$256.07	\$256.07
526	EATON CORP	312154	SHAFT; #11 25M	1	\$255.53	\$255.53
527	EATON CORP	B10820	CVA-27-04-0 SINGLE BODY ALUM -8 SAE	5	\$51.05	\$255.26
528	EATON CORP	430807	PLATE W 45VQ	1	\$254.98	\$254.98
529	EATON CORP	372851	SA V10F 2 GPM T COVER	1	\$252.80	\$252.80
530	EATON CORP	02-137809	DG4V-3S-0C-M-FW-B5-60-P10	1	\$250.07	\$250.07
531	EATON CORP	8277-025	H GEROTER 14.1 CI -009 [1.25]	1	\$247.88	\$247.88
532	EATON CORP	5987377-001	COUPLER; 26/9 TOOTH (420)	1	\$247.34	\$247.34
533	EATON CORP	02-163627	PTS3-10-6T-80	4	\$61.12	\$244.48
534	EATON CORP	6021329-001	HOUSING KIT A526P	3	\$81.35	\$244.06
535	EATON CORP	990059-000	TRUNNION BRG KIT	3	\$81.35	\$244.06
536	EATON CORP	02-109044	DG4V-3S-0C-M-U-G5-60	1	\$244.06	\$244.06
537	EATON CORP	02-201677	IRV1-10-30-0-00	3	\$80.81	\$242.42
538	EATON CORP	922862	SEAL KIT 3525VSH	4	\$60.61	\$242.42
539	EATON CORP	02-334561	SEAL KIT 4525VMQ, SSS,VITON	2	\$120.67	\$241.33
540	EATON CORP	100AV00064	RBA230230BNM20	1	\$241.33	\$241.33
541	EATON CORP	407AA00121	1LR300F20S-SP120	1	\$240.24	\$240.24

	А	В	С	D	Е	F
		_	-		UNIT	-
					REPLACE	TOTAL
					MENT	REPLACEM
1	SUPPLIER	PART#	DESCRIPTION	QTY		ENT COST
542	EATON CORP	4997177-007	DRIVE SHAFT INPUT 1.00 DIA. T ANDEM	1	\$239.69	\$239.69
543	EATON CORP	21268-101	FLANGE	3	\$79.72	\$239.15
544	EATON CORP	377553	COVER S/A VTM42 4.0 GPM	1	\$238.06	\$238.06
545	EATON CORP	566542	20327K RETAINER KIT	12	\$19.77	\$237.18
546	EATON CORP	02-109960	DG4V-3S-2N-M-FW-H5-60	1	\$236.96	\$236.96
547	EATON CORP	02-144033	DG4V-3S-2C-M-FW-G5-60-EN21	1	\$236.96	\$236.96
548	EATON CORP	101-2609-009	MH0141BA01EB0000000000000AA00J	1	\$236.42	\$236.42
549	EATON CORP	02-175468	C16-4 BODY LD 3/4 BSPP A 06B	4	\$58.97	\$235.87
550	EATON CORP	02-160832	31325A MANIFOLD-ASSY	2	\$117.94	\$235.87
551	EATON CORP	351249	SHAFT; #1 V2010	1	\$234.23	\$234.23
552	EATON CORP	B24264	A22903 DUAL BODY ALUM -6 SAE 6T	5	\$46.68	\$233.42
553	EATON CORP	02-185374	HOUSING KIT A316PValV	5	\$46.63	\$233.14
554	EATON CORP	02-317246	SPRING, CENTERING	6	\$38.82	\$232.92
555	EATON CORP	02-170776	PRV11-12-S-0-15/	5	\$46.31	\$231.53
556	EATON CORP	02-304180	STEMMF 02-329776-B	2	\$115.75	\$231.50
557	EATON CORP	B11474	A6935 SINGLE BODY STEEL -20 SAE 20T	1	\$230.96	\$230.96
558	EATON CORP	02-198680	SV9-8-A-0-00	6	\$38.35	\$230.11
559	EATON CORP	22000-004	FLANGE, 2 BOLT, SAE B	2	\$114.66	\$229.32
560	EATON CORP	255661	BKRX 06 661	8	\$28.50	\$228.03
561	EATON CORP	943316	VALVE PLATE - PVM98	1	\$226.59	\$226.59
562	EATON CORP	105104-000	PLATE VALVE HD 54 MOTOR(105104-998	1	\$226.04	\$226.04
563	EATON CORP		NV1-10-K-2G	6	\$37.67	\$226.04
564	EATON CORP	566152	C16-3 BODY LD -12 SAE A 12T	6	\$37.24	\$223.42
565	EATON CORP	8636-000	S SPACER PLATE (ST)	15	\$14.87	\$223.01
566	EATON CORP	990314-000	OVERHAUL GASKET KIT	4	\$55.69	\$222.77
567	EATON CORP	4995489-014	420 VALVE PLATE, RH, 49 CC	2	\$111.38	\$222.77
	EATON CORP			5	\$44.01	\$220.04
569	EATON CORP	6796-000	WASHER PEA 10927 12/82	24	\$9.13	\$219.23
	EATON CORP		SEAL KIT F3	1	\$218.95	\$218.95
	EATON CORP		BODY 1PDC25-6T	1	\$218.95	\$218.95
	EATON CORP		11-155 ORING [10]	24	\$9.07	\$217.79
	EATON CORP		DRIVE SHAFT 3/4 STRAIGHT KEY	2	\$108.65	\$217.31
	EATON CORP			6	\$36.20	\$217.20
-			MH0097AA01AB0000000000000AA00J	1	\$216.22	\$216.22
			VALVE PLATE, LH, 49CC (420 CHANGE)	2	\$107.56	\$215.12
	EATON CORP		GASKET KIT F3 45V	2	\$107.56	\$215.12
			1CEB90N35S4	2	\$106.47	\$212.94
-	EATON CORP		A7447 SINGLE BODY ALUM -8 SAE 8T	5	\$42.48	\$212.39
	EATON CORP			3	\$70.43	\$211.30
	EATON CORP		PLATE W 20VQ 30	1	\$211.30	\$211.30
	EATON CORP		H SERIES PLATE SPACER (ST)	18	\$11.72	\$210.91
-	EATON CORP		6K SEAL KIT W/ SEAL GUARD (006) [5		\$69.89	\$209.66
	EATON CORP		DG4V-3-2N-M-FWL-B6-60-EN21	2	\$104.33	\$208.66
	EATON CORP		SHAFT; #111 3525VQ	1	\$208.57	\$208.57
-	EATON CORP		PTS9-10N-0000-080-00-A	5	\$41.50	\$207.48

	А	В	С	D	E	F
					UNIT	
					REPLACE	TOTAL
					MENT	REPLACEM
1	SUPPLIER	PART#	DESCRIPTION	QTY	COST	ENT COST
	EATON CORP		HANDLEMF 400083 000	3	\$68.25	\$204.75
	EATON CORP		VALVE PLATE - PVM74	1	\$204.75	\$204.75
	EATON CORP		SCREW [24]	28	\$7.26	\$203.18
-	EATON CORP		PLATE P 20V	1	\$203.11	\$203.11
-	EATON CORP		DR SHF SPL	1	\$203.11	\$203.11
	EATON CORP		GASKET KIT F 3 3520VQ D	1	\$202.57	\$202.57
			SHAFT 1 KEYED 1.81 EXT. 02/AC	1	\$202.02	\$202.02
			SHAFT, DRIVE, INPUT .875 DIA.TANDEM	1	\$202.02	\$202.02
			SHAFT, DRIVE, INPUT .875 DIA.TANDEM	1	\$202.02	\$202.02
			SHAFT, DRIVE, INPUT .875 DIA.TANDEM	1	\$202.02	\$202.02
			SHAFT, DRIVE, INPUT .875 DIA.TANDEM	1	\$202.02	\$202.02
-			C12-4 BODY FR -12 SAE A 12T	4	\$50.40	\$201.58
			12 120 168 (MAX 180) GEROLER	1	\$201.47	\$201.47
			SHAFT 1 KEYED 1.81 EXT. 02/AB	1	\$201.47	\$201.47
	EATON CORP		BKDG06 635	6	\$33.47	\$200.82
	EATON CORP		TORX HEAD BOLT	23	\$8.72	\$200.55
	EATON CORP		H DRIVE 9.7/ 10.3;/1.9/11.9 CI	5	\$40.08	\$200.38
-	EATON CORP		POC1-10V-F-0-75	6	\$33.31	\$199.84
	EATON CORP		O-RING	24	\$8.30	\$199.31
	EATON CORP		TRUNNION SHIM KIT	2	\$99.37	\$198.74
	EATON CORP		PRV12-12-S-0-50/	4	\$49.28	\$197.11
	EATON CORP		FDC3-10-0-33	3	\$65.52	\$196.56
	EATON CORP		DRIVE SHAFT PVM45/50	1	\$194.38	\$194.38
	EATON CORP		2K BOLT	22	\$8.81	\$193.73
	EATON CORP		MINI GEROLER ASSY.	1	\$193.28	\$193.28
612	EATON CORP	101-1275-009	MH0059BA01AA00A0000000000AA00J	1	\$192.74	\$192.74
613	EATON CORP	627437	VALVE PLATE(LH) PVH74	1	\$192.74	\$192.74
614	EATON CORP	02-109642	DG4V-3S-2A-M-U-D5-60	1	\$191.10	\$191.10
615	EATON CORP	26002-RZB	ACNAR02ABA00200000000000A	1	\$191.10	\$191.10
	EATON CORP		2K SHAFT S/A 1 SAE 6B CORROSION	1	\$189.46	\$189.46
-	EATON CORP		MOUNTING FLANGE GASKET	25	\$7.55	\$188.64
			S-ASSY 1CEE35-6T	3	\$62.79	\$188.37
			M0J12B06C3000A0B	1	\$187.82	\$187.82
-	EATON CORP		ACNAR01ADA0010000000000A	1	\$186.73	\$186.73
	EATON CORP		R.H. VALVE PLATE PVM131	1	\$185.64	\$185.64
	EATON CORP		FT PL (L2)DIST	1	\$185.09	\$185.09
_	EATON CORP		A20081 SINGLE BODY ALUM -16 SAE 167	2	\$92.27	\$184.55
624	EATON CORP	213582	DT8P1 10 30 11	1	\$183.46	\$183.46
			DRIVE SHAFT INPUT .875 DIA. TANDEM	1	\$183.46	\$183.46
			DRIVE SHAFT INPUT .875 DIA. TANDEM	1	\$183.46	\$183.46
	EATON CORP		21112 LEVER ASSEMBLY=10	5	\$36.64	\$183.18
	EATON CORP		PRV1-10-F-0-24/23	7	\$25.74	\$180.21
	EATON CORP			7	\$25.66	\$179.63
_			SHAFT 13T 16/32 1.62 EXT. 05/AC	1	\$179.63	\$179.63
631	EATON CORP	5989378-001	DRIVE SHAFT 15 TOOTH TANDEM	1	\$179.63	\$179.63

	Α	В	С	D	E	F
					UNIT	
					REPLACE	TOTAL
					MENT	REPLACEM
1	SUPPLIER	PART#	DESCRIPTION	QTY	COST	ENT COST
\vdash	EATON CORP			10	\$17.83	\$178.32
	EATON CORP		SEAL KIT W/INTEGRAL COLUMN	10	\$17.83	\$178.27
	EATON CORP		10K BOLT	3	\$58.97	\$176.90
			2FB55P8T55S	1	\$176.90	\$176.90
			PRESSURE COMPENSATOR (40-130 BAR		\$176.90	\$176.90
			PRESSURE COMPENSATOR (40-130 BAF	1	\$176.90	\$176.90
\vdash	EATON CORP		SEAL SQ CUT VIS-45	20	\$8.81	\$176.25
	EATON CORP		CAP SCREW	23	\$7.66	\$176.13
	EATON CORP		GASKET-PORTING PLATE-FLSTK	35	\$5.03	\$176.00
	EATON CORP		SV3E-10-0-0-12DU	1	\$175.81	\$175.81
642	EATON CORP	565901	PRV2-10-S-0-50/	5	\$35.03	\$175.16
	EATON CORP		TORX HEAD BOLT	20	\$8.72	\$174.39
644	EATON CORP	16294-288	TORX HEAD BOLT	20	\$8.72	\$174.39
645	EATON CORP	4999807-001	622AK 17T 12/24 SPLINE SHAFT	1	\$174.17	\$174.17
646	EATON CORP	SK301D	SK301D	19	\$9.16	\$174.07
647	EATON CORP	02-167444	SV1E-10-3-0-24DU	1	\$173.63	\$173.63
648	EATON CORP	21564-016	2K VALVE HSG/180 SPEED S NR	1	\$173.63	\$173.63
649	EATON CORP	02-178269	C12-3S BODY FR -12 SAE A 12H	5	\$34.45	\$172.26
650	EATON CORP	02-334551	S KIT 25VMQ, SSS, VITON	1	\$171.44	\$171.44
651	EATON CORP	25500-50	BK PL (L2)DEERE	1	\$171.44	\$171.44
652	EATON CORP	6032761-002	H FORGED END CAP	4	\$42.75	\$171.01
653	EATON CORP	990099-001	MV SEALING O HAUL KIT	1	\$170.90	\$170.90
654	EATON CORP	574938	SHAFT; #70 V20	1	\$170.35	\$170.35
655	EATON CORP	475134	COUPLING	1	\$168.71	\$168.71
			PVE MAX VOLUME STOP	1	\$168.17	\$168.17
657	EATON CORP	893007	COIL KIT (B DIN) [5]	1	\$165.98	\$165.98
658	EATON CORP	02-324055	COIL N 24V AC CSA	4	\$41.44	\$165.77
659	EATON CORP	21373-002	6K MAIN DRIVE (15.0 CI) [4.36]	2	\$82.45	\$164.89
660	EATON CORP	02-181464	SV4-10-CM-0-12DG	3	\$54.84	\$164.52
	EATON CORP		M 11 OVERHAUL GASKET KIT	7	\$23.34	\$163.39
	EATON CORP		TRUNNION BRG KIT	2	\$81.35	\$162.71
	EATON CORP		SPC1-10-P-3B	2	\$81.08	\$162.16
	EATON CORP		6K SEAL KIT W/ SEAL GUARD (005)	2	\$80.81	\$161.62
665	EATON CORP	266162	DRIVE SHAFT	1	\$161.62	\$161.62
666	EATON CORP	266162	DRIVE SHAFT	1	\$161.62	\$161.62
667	EATON CORP	990762-000	EP CONNECT	4	\$40.24	\$160.96
668	EATON CORP	14384-010	2K BOLT	18	\$8.81	\$158.62
669	EATON CORP	02-160700	MCSCS120AP000010	3	\$52.85	\$158.56
	EATON CORP		GASKET-PRESS OVERRIDE-FLSTK	42	\$3.76	\$157.77
671	EATON CORP	21387-001	END CAP; 3/4-16 ORING PORTS (2)	3	\$52.09	\$156.27
672	EATON CORP	877040	COUPLING	1	\$155.61	\$155.61
673	EATON CORP	02-169106	FR1-16-F-0-18	4	\$38.77	\$155.06
674	EATON CORP	02-171896	FR1-16-F-0-23	4	\$38.77	\$155.06
675	EATON CORP	7360-027	SHAFT 1 KEY ELECTRO-PLATED	1	\$155.06	\$155.06
676	EATON CORP	B11819	CVB-42-04-0 SINGLE BODY STEEL -20 SA	1	\$154.52	\$154.52

_			LOTTOTO LATON NOV 2010		ı	
	Α	В	С	D	Е	F
					UNIT	
					REPLACE	TOTAL
					MENT	REPLACEM
1	SUPPLIER	PART#	DESCRIPTION	QTY	COST	ENT COST
677	EATON CORP	407AA00024	1PSC30F20S	4	\$38.22	\$152.88
678	EATON CORP	70502-201	DR SHF SPL (FO 1)	1	\$152.33	\$152.33
679	EATON CORP	7360-036	OUTPUT SHAFT 1 STR; (CTRLI)	1	\$152.33	\$152.33
680	EATON CORP	425415	VALVE PLATE L.H.	1	\$151.79	\$151.79
681	EATON CORP	B11947	A20081 SINGLE BODY STEEL -16 SAE 16	1	\$151.79	\$151.79
682	EATON CORP	BXP11814	A877 SINGLE BODY STEEL -16 SAE 16T	1	\$151.79	\$151.79
683	EATON CORP	70142-202	DR SHF SPL	1	\$151.24	\$151.24
684	EATON CORP	73100-203	DR SHF KEY (AAVAE)	1	\$151.24	\$151.24
685	EATON CORP	73100-203	DR SHF KEY (AAVAE)	1	\$151.24	\$151.24
686	EATON CORP	233019	S/A RELIEF VAL (2250 PSI	3	\$50.40	\$151.20
687	EATON CORP	001704	BEARING, V20	6	\$25.18	\$151.06
			MCSCJ012BD000010	12	\$12.56	\$150.70
	EATON CORP		GEROTOR ASSEMBLY .62 ID	1	\$150.15	\$150.15
	EATON CORP		THREADED SHAFT; # 3 V10	1	\$149.06	\$149.06
	EATON CORP		PSV1-10-C-0-6/	5	\$29.69	\$148.43
	EATON CORP		DPC11-12-P-A4G	1	\$147.97	\$147.97
			2FR25R8T25S-AT	1	\$147.97	\$147.97
	EATON CORP		PTS6-10-0-60	3	\$49.28	\$147.83
	EATON CORP		PTS2-10-0-80	6	\$24.34	\$146.04
$\overline{}$	EATON CORP		STRAIGHT SHAFT; #6 V10	1	\$145.78	\$145.78
			DRIVE SHAFT	1	\$145.78	\$145.78
			26 SERIES FRONT PLATE	1	\$144.69	\$144.69
$\overline{}$	EATON CORP		RV8-10-C-0-50/	5	\$28.89	\$144.47
	EATON CORP		10K BEARING SPACER	2	\$72.07	\$144.14
	EATON CORP		DR SHF SPL	1	\$144.14	\$144.14
	EATON CORP		DR SHF SPL	1	\$144.14	\$144.14
	EATON CORP		DR SHF SPL	1	\$144.14	\$144.14
	EATON CORP		PTS3-16-0-80	3	\$47.90	\$143.69
	EATON CORP		H GEROTER 2.8 CI (007 008)	1	\$142.51	\$142.51
	EATON CORP		SEAL KIT	1	\$142.51	\$142.51
	EATON CORP		02-112739	5	\$28.46	\$142.30
	EATON CORP		VRV11-12-C-0-15/	1	\$141.96	\$141.96
	EATON CORP		FCV7-10-K-0-NVF	7	\$20.20	\$141.41
	EATON CORP		SV3-10-0-0-12DWB	3	\$46.67	\$140.02
	EATON CORP			2	\$69.89	\$139.78
	EATON CORP		C20-4 BODY FR -12 SAE A 12H	1	\$139.78	\$139.78
	EATON CORP		W SERIERS INTERNAL CHECK POPPET	16	\$8.72	\$139.51
-	EATON CORP		HOUSING KIT A321WvalV	3	\$46.14	\$138.41
	EATON CORP		2K VALVE HSG 7/8-14 ORB -7/16-20	1	\$137.05	\$137.05
	EATON CORP		RV3-16-S-0-13/	2	\$68.28	\$136.55
	EATON CORP		SPRING	10	\$13.65	\$136.50
	EATON CORP		PISTON/SHOE HD 54 S/A(102692-000 &10		\$68.25	\$136.50
	EATON CORP		· ·	11	\$12.41	\$136.46
	EATON CORP		VTM28 SEAL KIT	3	\$45.43	\$136.28
	EATON CORP		PUV3-10-S-0-75-30/	2	\$67.87	\$135.74
121	LATON CORP	02-112331	1 0 7 0 - 10 - 0 - 1 0 - 0 0 /		ηυ. τυψ	φ135.74

	Α	В	С	D	E	F
					UNIT	
					REPLACE	TOTAL
					MENT	REPLACEM
1	SUPPLIER	PART#	DESCRIPTION	QTY	COST	ENT COST
722	EATON CORP	405AA00016.	2CFD200150S	1	\$135.41	\$135.41
723	EATON CORP	02-162087	20101A COIL 10597	2	\$67.16	\$134.32
724	EATON CORP	70453-901	PUMP MOUNTING KIT	5	\$26.33	\$131.67
-	EATON CORP		FDC3-10-0-44	2	\$65.52	\$131.04
726	EATON CORP	566168	PRV2-16-C-0-60/	2	\$65.31	\$130.63
	EATON CORP		SV3-10-C-8H-12DN	2	\$65.28	\$130.56
	EATON CORP		SHAFT,STR,1 WITH CROSSHOLE .315	1	\$129.40	\$129.40
	EATON CORP		2K BRG HSG 4 BOLT WHEEL MOUNT	1	\$128.86	\$128.86
	EATON CORP		2K BRG HSG 4 BOLT WHEEL MOUNT	1	\$128.86	\$128.86
	EATON CORP		MRV4-16-0-0	1	\$128.24	\$128.24
	EATON CORP		CAP; CONTROL	1	\$127.76	\$127.76
			630AA00857A FC-1	1	\$127.22	\$127.22
	EATON CORP		PRV1-10-K-0-12/	4	\$31.47	\$125.86
735	EATON CORP	407AA00014.	1CLLR100F35S	2	\$62.79	\$125.58
736	EATON CORP	02-170726	PRV2-16-S-0-60/30	2	\$62.34	\$124.68
737	EATON CORP	400AA00036.	C13F24/14	10	\$12.41	\$124.05
738	EATON CORP	14384-002	2K BOLT	14	\$8.81	\$123.37
739	EATON CORP	02-171893	NV1-8-S-0	9	\$13.65	\$122.85
740	EATON CORP	513627	DRIVE SHAFT PVH98/106	1	\$122.30	\$122.30
741	EATON CORP	889499	PTS3-20-0-80	1	\$121.71	\$121.71
742	EATON CORP	02-160761	SV5-8-0-0-00	5	\$24.34	\$121.70
743	EATON CORP	407AA00006	1GR100P4S	3	\$40.40	\$121.21
744	EATON CORP	98053-000	SHIM SERVO PISTON	3	\$40.24	\$120.72
745	EATON CORP	B3954	A881 SINGLE BODY ALUM 3/4 BSP 6W	3	\$40.13	\$120.39
746	EATON CORP	402AA00029.	1PS60P20S	3	\$40.08	\$120.23
747	EATON CORP	402AA00206.	1PS60-P-10S	3	\$40.08	\$120.23
748	EATON CORP	02-337970	COIL HL 24VDC W/TRANSZOR	1	\$119.57	\$119.57
749	EATON CORP	15049-000	O-RING SEAL	12	\$9.90	\$118.85
750	EATON CORP	15050-000	O-RING/ 581 KIT	12	\$9.90	\$118.85
751	EATON CORP	14410-004	10K BOLT	4	\$29.16	\$116.63
	EATON CORP		SPOOL	2	\$57.88	\$115.75
	EATON CORP		A7447 SINGLE BODY STEEL -8 SAE 8T	2	\$57.88	\$115.75
754	EATON CORP	526684	PVH57/63 DRIVE SHAFT	1	\$115.75	\$115.75
755	EATON CORP	02-198680	SV9-8-A-0-00	3	\$38.35	\$115.05
756	EATON CORP	232794	+	2	\$57.33	\$114.66
757	EATON CORP	920023	GASKET KIT F 3 25VQ SINGLE	1	\$114.66	\$114.66
758	EATON CORP	21371-010	2K TWO SPEED DRIVE (6.2 CI)[3.18]	2	\$56.78	\$113.57
759	EATON CORP	407AA00044	1CLLR50F35S	2	\$56.78	\$113.57
760	EATON CORP	4999427-001	THRU DRIVE COUPLER 11T 620AK	2	\$56.78	\$113.57
761	EATON CORP	285020-140	BALL; STEEL	12	\$9.45	\$113.41
762	EATON CORP	16294-200	TORX HEAD BOLT	13	\$8.72	\$113.35
763	EATON CORP	16238-11616	BRG BH1616	7	\$16.06	\$112.44
764	EATON CORP	02-180123	SV5-10-0P-0-00	3	\$37.41	\$112.22
765	EATON CORP	02-200394	RV1-10-S-0-36/	5	\$21.97	\$109.83
766	EATON CORP	565885	PRV1-10-S-0-2/	4	\$27.31	\$109.24

	А	В	С	D	Е	F
					UNIT	
					REPLACE	TOTAL
					MENT	REPLACEM
1	SUPPLIER	PART#	DESCRIPTION	QTY	COST	ENT COST
767	EATON CORP	185638	SNAP RING	82	\$1.33	\$109.24
768	EATON CORP	02-180869	PRV1-10-S-0-24/22	4	\$27.30	\$109.20
	EATON CORP		SPOOL	2	\$54.60	\$109.20
770	EATON CORP	02-165979	MRV3-16V-0-0	1	\$108.65	\$108.65
	EATON CORP		SPACER	6	\$17.96	\$107.75
			VALVE PLATE, LH, 49CC (420 CHANGE)	1	\$107.56	\$107.56
\vdash	EATON CORP		613-0154-001INSTALL KITValV	6	\$17.75	\$106.47
	EATON CORP		10K BOLT	2	\$53.07	\$106.14
	EATON CORP		DPS2-20-V-F-0-40	2	\$52.96	\$105.92
			RV6-10-T-0-50/30	4	\$26.33	\$105.33
	EATON CORP		DPS2-10-R-F-0-20	4	\$26.21	\$104.83
	EATON CORP		RELIEF VALVE 2250 PSI	1	\$103.74	\$103.74
	EATON CORP		SEAL KIT	1	\$103.74	\$103.74
			ADJ. VOLUME STOP KIT 420	1	\$103.19	\$103.19
-	EATON CORP		PRV1-10-F-0-2/1.25	4	\$25.74	\$102.98
	EATON CORP		PRV1-10-F-0-2/1.5	4	\$25.74	\$102.98
	EATON CORP		6K BOLT	7	\$14.70	\$102.89
-	EATON CORP		FR1-10-F-0-/6.00	5	\$20.57	\$102.84
-	EATON CORP			1	\$102.65	\$102.65
	EATON CORP		ADAPTER HUB	1	\$101.56	\$101.56
	EATON CORP		RV10-10V-C-0-2/	4	\$25.32	\$101.29
			THRU DIVE SHAFT SAE C(07) 620	4	\$25.17	\$100.68
-	EATON CORP		FAR1-12-K-0	1	\$100.46	\$100.46
	EATON CORP		2K BACK UP RING	12	\$8.30	\$99.66
	EATON CORP		PLATE	3	\$32.98	\$98.94
	EATON CORP		S/A RELIEF VALVE (1750 PSI)	2	\$49.41	\$98.83
			A12088 SINGLE BODY ALUM -8 SAE 8T	1	\$98.83	\$98.83
	EATON CORP		9T DR GR S/A	1	\$98.28	\$98.28
	EATON CORP		REAR SEAL KIT 4K	5	\$19.62	\$98.09
-	EATON CORP		SET OF SEALS NON STOCK	1	\$97.73	\$97.73
$\overline{}$	EATON CORP		RV3-10-C-0-6/	4	\$24.34	\$97.36
-	EATON CORP		CAP SCREW	19	\$5.11	\$97.10
	EATON CORP		2K BOLT	11	\$8.81	\$96.94
	EATON CORP		DGMDC 3 Y PK 41	1	\$96.64	\$96.64
	EATON CORP		A6610 SINGLE BODY STEEL -8 SAE 8T	2	\$48.27	\$96.53
	EATON CORP		DPS2-10-V-F-0-160	4	\$24.02	\$96.10
	EATON CORP		3/4 KEYED DRIVE GEAR	1	\$96.10	\$96.10
	EATON CORP		PTS2-16-0-80	2	\$47.90	\$95.79
	EATON CORP		PTS3-16-0-80	2	\$47.90	\$95.79
	EATON CORP		SV1-10-3-0-00	4	\$23.89	\$95.55
_	EATON CORP		SPLINED SHAFT #11 V10	1	\$95.55	\$95.55
	EATON CORP		PTS9-12U-0-000-110	2	\$47.50	\$95.00
			EATON/CHAR LYNN MOTOR	1	\$94.83	\$94.83
-	EATON CORP		CV11-12-P-0-5	4	\$23.48	\$93.91
811	EATON CORP	02-177205	POC1-12V-F-0-30	2	\$46.96	\$93.91

	Α	В	С	D	E	F
					UNIT	
					REPLACE	TOTAL
					MENT	REPLACEM
1	SUPPLIER	PART#	DESCRIPTION	QTY	COST	ENT COST
812	EATON CORP	02-362449	_KIT - COIL NUT	14	\$6.68	\$93.49
813	EATON CORP	02-173075	SV5-8-C-0-12DGS	3	\$30.98	\$92.94
	EATON CORP		PRV11-12-S-0-30/	2	\$46.31	\$92.61
	EATON CORP		PRV11-12-S-0-30/	2	\$46.31	\$92.61
	EATON CORP		VF1-16-F-0-10	2	\$45.86	\$91.73
	EATON CORP			2	\$45.86	\$91.73
			1CE30F35S10	2	\$45.86	\$91.73
			1PS60-P-35S-SP3200	2	\$45.86	\$91.73
	EATON CORP			1	\$91.73	\$91.73
	EATON CORP		9T DR GR S/A	1	\$91.18	\$91.18
	EATON CORP		HOUSING KIT A310BValV	1	\$90.64	\$90.64
	EATON CORP		NV1-8-K-0	5	\$18.02	\$90.09
			MCSCS024AQ000010	5	\$18.02	\$90.09
			4997062-001 HST	1	\$90.09	\$90.09
			4997062-001 HST	1	\$90.09	\$90.09
	EATON CORP		VF11-10-F-A8T-6	2	\$44.50	\$89.00
			4997242-001 BOLT KIT	6	\$14.79	\$88.71
	EATON CORP		POC1-10-F-0-30	3	\$29.48	\$88.45
	EATON CORP		GASKET KIT 50V	1	\$88.45	\$88.45
	EATON CORP		6K BOLT	10	\$8.81	\$88.12
	EATON CORP		H DRIVE 2.2/2.8/3.0 /4.5 Cl.	3	\$29.32	\$87.96
	EATON CORP		DPS2-10-P-F-0-160	4	\$21.84	\$87.36
	EATON CORP		TORX HEAD BOLT	10	\$8.72	\$87.20
	EATON CORP		CAP SCREW	48	\$1.81	\$87.01
	EATON CORP			7	\$12.41	\$86.84
	EATON CORP		6K MAIN DRIVE (23.9 CI) [5.00]	1	\$86.27	\$86.27
	EATON CORP		6K MAIN DRIVE (23.9 CI) [5.00]	1	\$86.27	\$86.27
	EATON CORP		SHAFT BEARING PVB20/29	1	\$86.27	\$86.27
	EATON CORP		PSV2-10-S-0-24/	3	\$28.50	\$85.49
	EATON CORP		BK590716	7	\$12.18	\$85.27
	EATON CORP		6K MAIN DRIVE (19.0 CI) [4.65]	1	\$85.18	\$85.18
	EATON CORP		PLASTIC CAP	3	\$28.12	\$84.36
	EATON CORP			2	\$42.04	\$84.08
$\overline{}$	EATON CORP		A6951 SINGLE BODY ALUM -6 SAE 6T	2	\$41.93	\$83.87
	EATON CORP		SPACER	4	\$20.79	\$83.14
	EATON CORP		31174A MANIFOLD ASSY-STEE	1	\$82.99	\$82.99
	EATON CORP		SHOE RETAINER PVH74 &PVM74	1	\$82.99	\$82.99
	EATON CORP		H DRIVE 16.9/ 23.8/ 45.1 CI	2	\$41.28	\$82.56
	EATON CORP			1	\$82.45	\$82.45
-	EATON CORP		2160991 BODY SAE8	2	\$41.17	\$82.34
	EATON CORP		SPRING	6	\$13.65	\$81.90
	EATON CORP		SK2-10V-2	6	\$13.65	\$81.90
	EATON CORP		IDLER GEAR 42.8 (2.61)	1	\$81.90	\$81.90
	EATON CORP		CAP SCREW	16	\$5.11	\$81.76
856	EATON CORP	16119-532	CAP SCREW	16	\$5.11	\$81.76

	Α		COTTOTO LATON NOV 2010			-
	Α	В	С	D	E	F
					UNIT	TOT#:
					REPLACE	TOTAL
	OLIDDI IED	DADT "	DECORIDATION	OT)/	MENT	REPLACEM
1	SUPPLIER	PART#	DESCRIPTION	QTY	COST	ENT COST
	EATON CORP		SV1-8-3M-0-00	2	\$40.70	\$81.41
	EATON CORP			1	\$81.35	\$81.35
	EATON CORP		DGMS 3 1 EY 10 S - SIDE SUBPLATE	1	\$80.81	\$80.81
	EATON CORP		FR2-10-S-0-/0.50	3	\$26.75	\$80.26
	EATON CORP		A881 SINGLE BODY ALUM 3/4 BSP 6W	2	\$40.13	\$80.26
	EATON CORP		CV11-12-P-S12T-5	1	\$80.26	\$80.26
	EATON CORP			2	\$40.08	\$80.15
	EATON CORP		PFR1-16-F-0-10	2	\$39.86	\$79.72
	EATON CORP		ENCAP COIL & FRAME	1	\$79.17	\$79.17
866	EATON CORP	580427	SEAT	3	\$26.36	\$79.08
867	EATON CORP	16119-634	CAP SCREW	7	\$11.29	\$79.04
	EATON CORP		VRV11-12-S-0-30/	1	\$78.62	\$78.62
869	EATON CORP	7462-000	THRUST BEARING RACE	6	\$12.85	\$77.08
870	EATON CORP	02-178477	HOUSING	1	\$76.99	\$76.99
871	EATON CORP	02-334431	BEARING SUB/ASSYPVM74/98,620	1	\$76.44	\$76.44
872	EATON CORP	B11379	A880 SINGLE BODY STEEL -12 SAE 12T	1	\$76.44	\$76.44
873	EATON CORP	407AA00041	1PA60P20S	1	\$75.89	\$75.89
874	EATON CORP	22362-001	SPACER	4	\$18.91	\$75.66
875	EATON CORP	565950	MRV5-10-D-0000-00	1	\$75.40	\$75.40
876	EATON CORP	21847-000	WEAR PLATE 25/40	1	\$74.80	\$74.80
877	EATON CORP	429284	SEAL; (F10)	3	\$24.79	\$74.37
	EATON CORP		SPRING; CENTERING	6	\$12.38	\$74.30
			CRUSH RING TEMPER# 203073.1	5	\$14.83	\$74.17
880	EATON CORP	4997176-001	CRUSH RING TEMPER# 203073.1	5	\$14.83	\$74.17
881			BEARING	2	\$37.02	\$74.04
	EATON CORP		RV3A-16-S-0-35/	1	\$73.71	\$73.71
	EATON CORP		BK PL SIDE PORTS (BQR)	1	\$73.71	\$73.71
	EATON CORP		RV6-10-C-0-25/20	3	\$24.55	\$73.66
	EATON CORP		BKDPNG40 706 BOLTS	1	\$73.16	\$73.16
-	EATON CORP		PTS3-10-0-160	3	\$24.34	\$73.02
-	EATON CORP		SV1-8-4-A6T-12DWBS	1	\$72.97	\$72.97
	EATON CORP		PIN	13	\$5.57	\$72.40
	EATON CORP		TRUNNION SHIM PACK	1	\$72.07	\$72.40
			PRV12-10-F-0-30/30	2	\$36.01	\$72.07
	EATON CORP		2K BOLT	8	\$8.81	\$70.50
	EATON CORP		2K BOLT	8	\$8.81	\$70.50
	EATON CORP		ADV1-16-0-100	1	\$70.43	\$70.30
-	EATON CORP		ADV1-16-0-100 ADV1-16-0-100	1	\$70.43	\$70.43
	EATON CORP		PUV3-10-C-0-90-30/30	1	\$70.43	\$70.43
	EATON CORP		C13A24/14 Bi-D	6	\$11.65	\$69.91
	EATON CORP		H SEAL KIT (VITON) (008; 009) [10]	1	\$69.89	\$69.89
	EATON CORP		A881 SINGLE BODY ALUM -12 SAE 12T	2	-	· ·
					\$34.89	\$69.78
	EATON CORP		TORX HEAD BOLT	8	\$8.72	\$69.76
-	EATON CORP		SC240APP00 COIL	1	\$69.34	\$69.34
901	EATON CORP	∠1466-000	2K VALVE	1	\$69.34	\$69.34

	Α	В	С	D	Е	F
					UNIT	
					REPLACE	TOTAL
					MENT	REPLACEM
1	SUPPLIER	PART#	DESCRIPTION	QTY	COST	ENT COST
902	EATON CORP	21045-007	36 OF 21045 7=64514 MLTKT	7	\$9.90	\$69.29
903	EATON CORP	9900961-000	220 SHIM KIT	1	\$68.80	\$68.80
904	EATON CORP	879172	KNOB	5	\$13.65	\$68.25
905	EATON CORP	02-101733	COIL 220/240 VAC D (V)	1	\$68.25	\$68.25
906	EATON CORP		COIL UDN 220VAC 60	1	\$68.25	\$68.25
	EATON CORP		Bearing Assy - PVM98, 620	1	\$68.25	\$68.25
	EATON CORP		COIL UDP 125V DC	1	\$68.25	\$68.25
	EATON CORP		DPS2-20-F-S-0-160	1	\$67.70	\$67.70
910	EATON CORP	25500-315	IDL GR ASY	1	\$67.70	\$67.70
	EATON CORP		IDL GR ASY	1	\$67.70	\$67.70
	EATON CORP		DPC1-10S-P-6T	1	\$67.27	\$67.27
	EATON CORP		PFR5-10-F-0-1.50	3	\$22.39	\$67.16
	EATON CORP		GEROTER KIT	3	\$22.32	\$66.96
915	EATON CORP	16068-5	PLUG	34	\$1.97	\$66.83
916	EATON CORP	566041	FDC3-16-0-44	1	\$66.07	\$66.07
917	EATON CORP	02-177136	PTS1-10-6H-40	1	\$66.05	\$66.05
918	EATON CORP	02-181329	SV5-8-0P-0-00	2	\$32.06	\$64.12
	EATON CORP		18201P8 JAM NUT	9	\$7.10	\$63.88
920	EATON CORP	14386-011	4K BOLT	5	\$12.75	\$63.77
921	EATON CORP	14386-012	4K BOLT	4	\$15.89	\$63.55
922	EATON CORP	312092	11-159 ORING	4	\$15.89	\$63.55
923	EATON CORP	02-185350	HOUSING KIT A324PvalV	2	\$31.78	\$63.55
924	EATON CORP	17024-024	PLAIN SPRG 220PSI	7	\$9.07	\$63.48
925	EATON CORP	21387-003	END CAP; 1/2 BSP & 1/4 BSP PORTS	1	\$63.34	\$63.34
926	EATON CORP	406AA00016	1CE90F35S4	1	\$63.34	\$63.34
927	EATON CORP	101540-000	KEY 3/8 X 3/8 X 2.5	2	\$31.40	\$62.79
928	EATON CORP	BXP241476T	S-ASSY 1CEE35-6T	1	\$62.79	\$62.79
929	EATON CORP	566199	20709A8 VALVE BOD	2	\$31.34	\$62.68
930	EATON CORP	566150	C10-2 BODY LD -8 SAE A 08T	4	\$15.48	\$61.92
931	EATON CORP	14384-006	2K BOLT	7	\$8.81	\$61.69
	EATON CORP		SV11-10-4M-0-00	1	\$61.26	\$61.26
933	EATON CORP	02-163627	PTS3-10-6T-80	1	\$61.12	\$61.12
934	EATON CORP	16294-175	TORX HEAD BOLT 8277-003	7	\$8.72	\$61.04
935	EATON CORP	928543	KEY; SQUARE	4	\$15.21	\$60.82
936	EATON CORP	919632	BEARING VIS 45	1	\$60.61	\$60.61
937	EATON CORP	02-335336	Bearing S/A - PVM18/20	3	\$19.94	\$59.82
	EATON CORP		CONTROLLER SEAL KIT	1	\$59.51	\$59.51
939	EATON CORP	4997176-001	CRUSH RING TEMPER# 203073.1	4	\$14.83	\$59.34
940	EATON CORP	16119-640	CAP SCREW	12	\$4.89	\$58.71
941	EATON CORP	14410-010	10K BOLT	1	\$58.42	\$58.42
942	EATON CORP	565606	DPS2-16-P-F-0-80	2	\$28.94	\$57.88
943	EATON CORP	BXP217958T	BXP217958TS	1	\$57.88	\$57.88
944	EATON CORP	02-178109	MCSCJ240AP000010	1	\$57.33	\$57.33
945	EATON CORP	02-170821	18201P8 JAM NUT	8	\$7.10	\$56.78
946	EATON CORP	02-185375	HOUSING KIT A317TValV	1	\$56.78	\$56.78

	А	В	С	D	Е	F
		_	-		UNIT	-
					REPLACE	TOTAL
					MENT	REPLACEM
1	SUPPLIER	PART#	DESCRIPTION	QTY	COST	ENT COST
947	EATON CORP	20599-000	2 SPEED SENSOR	6	\$9.45	\$56.71
948	EATON CORP	6901-011	SPACER	6	\$9.45	\$56.71
949	EATON CORP	102067-000	GASKET-PRESS OVERRIDE-FLSTK	15	\$3.76	\$56.35
950	EATON CORP	877045	COUPLING 14T COUPLING PVM/PVH/VM	1	\$55.69	\$55.69
951	EATON CORP	02-153254	DPS2-20-T-F-0-40	1	\$55.15	\$55.15
952	EATON CORP	265425	STANDARD PINTLE	1	\$55.15	\$55.15
953	EATON CORP	B10827	A878 SINGLE BODY ALUM -16 SAE 16T	1	\$55.15	\$55.15
954	EATON CORP	B10827	A878 SINGLE BODY ALUM -16 SAE 16T	1	\$55.15	\$55.15
955	EATON CORP	95890-038	8 32 SOC HD CAPSCREW	46	\$1.20	\$55.00
956	EATON CORP	21371-009	2K TWO SPEED DRIVE (4.9 CI)[3.00]	1	\$54.55	\$54.55
957	EATON CORP	02-174527	FAR1-10-S-0-10	1	\$54.49	\$54.49
958	EATON CORP	16119-526	CAP SCREW	28	\$1.94	\$54.42
959	EATON CORP	26005-201	IDLER GEAR S/A (FGGRASSY)	1	\$54.16	\$54.16
960	EATON CORP	70503-6	PISTON ASSEMBLY	1	\$53.84	\$53.84
961	EATON CORP	400AA00020	C16H110/29-WC	2	\$26.74	\$53.49
962	EATON CORP	02-165972	MRV2-16-0-0-15	1	\$53.43	\$53.43
963	EATON CORP	566411	C16-4 BODY LD -12 SAE A 12T	1	\$52.91	\$52.91
964	EATON CORP	14253-000	6K CAP SCREW	6	\$8.81	\$52.87
965	EATON CORP	16296-168	INTERNAL RETAINING RING	6	\$8.81	\$52.87
966	EATON CORP	02-177089	SV14-10-0M-0-00	1	\$52.84	\$52.84
967	EATON CORP	14409-008	6K BOLT	4	\$13.06	\$52.24
968	EATON CORP	21387-001	END CAP; 3/4-16 ORING PORTS (2)	1	\$52.09	\$52.09
969	EATON CORP	102853-000	SNAP RING FOR 1.00 SHAFT	20	\$2.60	\$51.98
970	EATON CORP	232799	S/A RELIEF VALVE (2000 PSI)	1	\$51.87	\$51.87
971	EATON CORP	232799	S/A RELIEF VALVE (2000 PSI)	1	\$51.87	\$51.87
972	EATON CORP	16119-636	CAP SCREW	13	\$3.97	\$51.60
	EATON CORP		S SEAL KIT (BUNA N) (008) [5]	2	\$25.66	\$51.32
	EATON CORP		COUPLER	1	\$51.27	\$51.27
	EATON CORP		SC012DPH00 COIL	1	\$51.21	\$51.21
	EATON CORP		C8-4 BODY FR 3/8 BSPP A 03G	2	\$25.37	\$50.73
	EATON CORP			1	\$50.23	\$50.23
	EATON CORP		SV14-8-0M-0-00	1	\$49.85	\$49.85
	EATON CORP		SCREW	4	\$12.38	\$49.53
	EATON CORP		SCREW; HHC .500-13X5.00L [20]	29	\$1.70	\$49.33
	EATON CORP		RV11-12-C-0-50/	1	\$49.28	\$49.28
	EATON CORP		KEY; SQUARE	3	\$16.27	\$48.81
	EATON CORP		BODY BOLTS (4 EA) VMQ23525S	4	\$12.18	\$48.72
	EATON CORP		OUTPUT SHAFT S/A	1	\$48.70	\$48.70
	EATON CORP		SEAT	3	\$16.15	\$48.45
			FRONT BEARING EATON 620	1	\$48.43	\$48.43
	EATON CORP		DPS2-10-T-F-0-80	2	\$24.02	\$48.05
-	EATON CORP		SPOOL	_ _	\$47.88	\$47.88
	EATON CORP		SV910NA000000000000000000AvalV	1	\$47.78	\$47.78
	EATON CORP		SV14-10-C-0-12DGH	1	\$47.65	\$47.65
-	EATON CORP		NV1-8V-S-0	3	\$15.83	\$47.50

	Α	В	С	D	Е	F
					UNIT	
					REPLACE	TOTAL
					MENT	REPLACEM
1	SUPPLIER	PART#	DESCRIPTION	QTY	COST	ENT COST
992	EATON CORP	02-180184	RV3A-10-I-0-36/15	2	\$23.69	\$47.38
993	EATON CORP	285020-050	BALL CHECK EATON	5	\$9.45	\$47.26
994	EATON CORP	370-000	C SPR STD/MET	5	\$9.45	\$47.26
995	EATON CORP	400AA00008	C13H24/14	5	\$9.45	\$47.26
996	EATON CORP	96612-000	BEARING NEEDLE	3	\$15.52	\$46.55
997	EATON CORP	300AA00050	MCSCP024DQ000010	4	\$11.47	\$45.86
	EATON CORP			1	\$45.86	\$45.86
			1CE30F35S10	1	\$45.86	\$45.86
1000	EATON CORP	14628-009	SLINGER SL VIS45	1	\$45.54	\$45.54
	EATON CORP		CV2-20-P-0-60	1	\$45.32	\$45.32
1002	EATON CORP	922851	SEAL KIT 35VSH	1	\$45.26	\$45.26
	EATON CORP		RV6-10-S-0-50/	2	\$22.18	\$44.36
	EATON CORP		4K BOLT	5	\$8.81	\$44.06
	EATON CORP		SCREW	4	\$10.93	\$43.72
1006	EATON CORP	300AA00056	MCSCP024DW0B0010	4	\$10.92	\$43.68
1007	EATON CORP	16294-162	TORX HEAD BOLT	5	\$8.72	\$43.60
1008	EATON CORP	14317-000	RETAINING RING	10	\$4.36	\$43.57
1009	EATON CORP	02-198933	CV3-8-P-0-15	5	\$8.54	\$42.72
1010	EATON CORP	95729-000	CONTROL LEVER	3	\$14.22	\$42.67
1011	EATON CORP	102763-000	CONTROL LINK ASSEMBLYFLSTK	1	\$41.93	\$41.93
1012	EATON CORP	14409-006	6K BOLT	4	\$10.45	\$41.80
1013	EATON CORP	23901-000	END CAP 7 HOLES POWER STEERING	1	\$41.55	\$41.55
1014	EATON CORP	23986-002	T MOTOR; END CAP DRAIN PORT 7/16	1	\$41.55	\$41.55
1015	EATON CORP	02-169782	C12-2 BODY ST -12 SAE S 12T	1	\$41.17	\$41.17
1016	EATON CORP	02-113069	RV10-10-S-0-5/	2	\$20.57	\$41.15
1017	EATON CORP	02-171893	NV1-8-S-0	3	\$13.65	\$40.95
1018	EATON CORP	26002-101	BODY S/A	1	\$40.62	\$40.62
1019	EATON CORP	134249	SCREW	4	\$9.89	\$39.55
1020	EATON CORP	02-181330	SV5-8-0S-0-00	1	\$39.18	\$39.18
1021	EATON CORP	16119-530	CAP SCREW	19	\$2.06	\$39.11
1022	EATON CORP	565586	21744 KNOB KIT=16 SERIES	2	\$19.49	\$38.98
1023	EATON CORP	02-169304	FR1-16-F-0-15	1	\$38.77	\$38.77
-	EATON CORP		PSV4-10-S-0-14/	1	\$38.59	\$38.59
1025	EATON CORP	184458	SPRING	2	\$19.20	\$38.41
1026	EATON CORP	565590	NV1-10-K-0	2	\$19.11	\$38.22
1027	EATON CORP	02-163381	FDC1-10V-0-22	1	\$38.22	\$38.22
1028	EATON CORP	001116	BOLT, SOCKET HEAD1/2-13x2.0	6	\$6.35	\$38.10
1029	EATON CORP	300AA00007	MCSCS012BG000010	3	\$12.56	\$37.67
1030	EATON CORP	16003-408-9	O RING	20	\$1.88	\$37.56
1031	EATON CORP	BXP10506	A881 SINGLE BODY ALUM -12 SAE 12T	1	\$37.40	\$37.40
1032	EATON CORP	CXP7140	A881 SINGLE BODY ALUM -8 SAE 8T	1	\$37.40	\$37.40
1033	EATON CORP	001703	BEARING	1	\$37.02	\$37.02
1034	EATON CORP	60566-000	R SEAL KIT VITON SHAFT (002; 001)	1	\$36.96	\$36.96
1035	EATON CORP	919239	SEALKIT	1	\$36.64	\$36.64
1036	EATON CORP	566409	C20-2 BODY LD -16 SAE A 16T	1	\$36.58	\$36.58

			LOTIOIO LATON NOV 2010			
	Α	В	С	D	E	F
		1			UNIT	
		1			REPLACE	TOTAL
					MENT	REPLACEM
1	SUPPLIER	PART#	DESCRIPTION	QTY	COST	ENT COST
	EATON CORP		SPRING	3	\$12.11	\$36.33
	EATON CORP		C12-3S BODY FR -10 SAE A 10H	1	\$36.20	\$36.20
	EATON CORP		FCV7-10V-S-0-NVF	2	\$18.02	\$36.04
-			MCSCS024AG000010	2	\$18.02	\$36.04
	EATON CORP		BULLET SHAFT SEAL	1	\$35.65	\$35.65
	EATON CORP		PISTON ROD	1	\$35.38	\$35.38
	EATON CORP		2K BOLT	4	\$8.81	\$35.25
	EATON CORP		2K BOLT	4	\$8.81	\$35.25
	EATON CORP		2K BOLT	4	\$8.81	\$35.25
	EATON CORP		2K BOLT	4	\$8.81	\$35.25
-	EATON CORP		INTERNAL RETAINING RING	4	\$8.81	\$35.25
1048	EATON CORP	96108-281	BEVELLED RETAINING RING	4	\$8.80	\$35.18
1049	EATON CORP	101619-028	ORIFICE-CONTROL VALVEFLSTK	3	\$11.65	\$34.95
1050	EATON CORP	02-199503	PTS9-8N-0-000-080	1	\$34.56	\$34.56
	EATON CORP		CAP SCREW	19	\$1.81	\$34.44
1052	EATON CORP	21140-20	WSH	5	\$6.76	\$33.80
-	EATON CORP		WASHER	9	\$3.67	\$33.07
1054	EATON CORP		6K BOLT	1	\$32.87	\$32.87
1055	EATON CORP	22251-000	H DRIVE 7.3 CI (009)	1	\$31.89	\$31.89
1056	EATON CORP		HORN BRUSH KIT*	1	\$31.72	\$31.72
1057	EATON CORP	02-177737	PRV1-10-K-0-2/1.25	1	\$31.47	\$31.47
	EATON CORP		CVA20-01-0 SINGLE BODY ALUM -8 SAE	1	\$31.18	\$31.18
1059	EATON CORP	200159	12-239 ORING; 90 DURO	4	\$7.78	\$31.12
1060	EATON CORP	02-112968	PFR2-10-K-0-6	1	\$31.12	\$31.12
1061	EATON CORP	02-165679	PFR2-10-K-0-2	1	\$31.12	\$31.12
1062	EATON CORP	16119-530	CAP SCREW	15	\$2.06	\$30.88
	EATON CORP		H DRIVE. 6.2 CI THRU 23.8 CI	1	\$30.30	\$30.30
1064	EATON CORP	103039-188	NEEDLE ROLLER 5/32 DIAL - FLSTK	1	\$29.76	\$29.76
	EATON CORP		10K BAL PLATE S/A	1	\$29.54	\$29.54
	EATON CORP		FCV7-10-S-0-NV	2	\$14.74	\$29.48
	EATON CORP		POC1-10-F-0-75	1	\$29.48	\$29.48
$\overline{}$	EATON CORP			1	\$29.48	\$29.48
	EATON CORP		6K BOLT	2	\$14.70	\$29.40
	EATON CORP		FCV11-12-S-0-NV	1	\$29.10	\$29.10
	EATON CORP		PLATE THRUST HD 76STAMPED-FLSTK	1	\$28.88	\$28.88
	EATON CORP		02-112739	1	\$28.46	\$28.46
$\overline{}$	EATON CORP		SPACER	3	\$9.45	\$28.35
-	EATON CORP		H SERIES SPACER 11.9 CI (008)	3	\$9.45	\$28.35
	EATON CORP		SHIM	7	\$4.02	\$28.13
	EATON CORP		RV8-8-C-0-30/	1	\$27.31	\$27.31
	EATON CORP		PRV1-10-S-0-2/	1	\$27.31	\$27.31
			MCSCJ024DG000010	2	\$13.65	\$27.30
	EATON CORP		ORIFICE PLUG .60 WHITE MF 694353	2	\$13.65	\$27.30
	EATON CORP		ORIFICE PLUG .60 WHITE MF 694353	2	\$13.65	\$27.30
	EATON CORP		X20 PC SPRING 35-138 BAR 500-2000 PS		\$13.51	\$27.30
TOOT	LATON CONF	200030	7201001 NINO 30-130 DAIX 300-2000 Pg	_	ψισ.σι	₁ Ψ∠1.∪3

_			LOTTOTO LATON NOV 2010		ı	
	Α	В	С	D	E	F
					UNIT	
					REPLACE	TOTAL
					MENT	REPLACEM
1	SUPPLIER	PART#	DESCRIPTION	QTY	COST	ENT COST
1082	EATON CORP	566399	PTS1-10-0-160	1	\$26.79	\$26.79
1083	EATON CORP	02-112872	FR2-10-S-0-3	1	\$26.75	\$26.75
1084	EATON CORP	02-169186	FR2-10-S-030	1	\$26.75	\$26.75
1085	EATON CORP	566218	FR2-10-S-0-/0.50	1	\$26.75	\$26.75
1086	EATON CORP	201111-001	T SERIES DRIVE (3.0 CI) [3.10]	1	\$26.70	\$26.70
1087	EATON CORP	23092-000	SPACER PLT W/ORING GROOV	1	\$26.47	\$26.47
1088	EATON CORP	14386-005	4K BOLT	3	\$8.81	\$26.44
1089	EATON CORP	16292-162	4K CAP SCREW	3	\$8.81	\$26.44
1090	EATON CORP	300AA00136	MCSCH024DW0B0010	2	\$13.10	\$26.21
1091	EATON CORP	02-113159	DPS2-10-R-F-0-20	1	\$26.21	\$26.21
1092	EATON CORP	16147-412	CP SC	11	\$2.38	\$26.13
	EATON CORP		PTS7-10-0-80	1	\$26.12	\$26.12
1094	EATON CORP	74600-115	WASHER	1	\$26.07	\$26.07
1095	EATON CORP	301AA00004	CV3-4V-B-000-05-00 REMPL	2	\$13.01	\$26.02
1096	EATON CORP	407AA00188	1DR30P20S	1	\$25.66	\$25.66
1097	EATON CORP	407AA00203	1DR30P40S	1	\$25.66	\$25.66
1098	EATON CORP	429282	SEAL; (F10)	1	\$25.44	\$25.44
1099	EATON CORP	16119-522	CAP SCREW	15	\$1.69	\$25.31
1100	EATON CORP	507724	END CAP ACMF 507724 J	1	\$24.83	\$24.83
1101	EATON CORP	02-160730	31496A8 BODY 2WAY 8 SERIE	2	\$12.41	\$24.82
1102	EATON CORP	92999-000	ETN LT DTY SEAL	4	\$6.19	\$24.77
1103	EATON CORP	694274	COIL NUT AC	2	\$12.38	\$24.77
1104	EATON CORP	02-168235	C10-4 BODY LD -6 SAE A 06T	1	\$24.73	\$24.73
1105	EATON CORP	02-164301	RV3-10V-S-0-36/	1	\$24.34	\$24.34
1106	EATON CORP	566612	DPS2-10-F-F-0-40	1	\$24.02	\$24.02
1107	EATON CORP	433762	SEAL PAK (SERVICE)	2	\$11.95	\$23.89
1108	EATON CORP	16147-816	CAP SCREW (420)	4	\$5.86	\$23.43
1109	EATON CORP	17046-20	SPG	5	\$4.65	\$23.23
	EATON CORP		SWASHP PLATE PLUNGER	1	\$23.03	\$23.03
1111	EATON CORP	16077-18	RET RG (GP)	3	\$7.65	\$22.96
1112	EATON CORP	300AA00049	MCSCP012DQ000010	2	\$11.47	\$22.93
1113	EATON CORP	SK301A	SK301A	5	\$4.58	\$22.88
1114	EATON CORP	60501-000	SEAL KIT CONTAINS 6 OF 4999493-001	1	\$21.79	\$21.79
1115	EATON CORP	102EC94101	VFX40m STANDARDCONNECTOR KIT	1	\$21.29	\$21.29
1116	EATON CORP	4993570-001	PLUG, ADJUSTABLE VOLUME STOP	1	\$21.13	\$21.13
1117	EATON CORP	579377	RING;BACKUP RETAINER	1	\$21.08	\$21.08
1118	EATON CORP	16048-404	WASHER	3	\$6.96	\$20.87
1119	EATON CORP	32039-10	SPRING	3	\$6.96	\$20.87
1120	EATON CORP	96098-075	RETAINING RING	8	\$2.60	\$20.79
	EATON CORP		O-RING	2	\$10.35	\$20.69
1122	EATON CORP	02-171708	24383 CAVITY PLUG 8 SERIvalV	2	\$10.29	\$20.57
	EATON CORP		O-RING	30	\$0.68	\$20.48
	EATON CORP		CAP SCREW	4	\$5.11	\$20.44
	EATON CORP		MPV1-10-K-0	1	\$20.28	\$20.28
	EATON CORP		CAP SCREW	12	\$1.69	\$20.25

			LOTIOIS LATON NOV 2010			
	Α	В	С	D	E	F
					UNIT	
					REPLACE	TOTAL
					MENT	REPLACEM
1	SUPPLIER	PART#	DESCRIPTION	QTY	COST	ENT COST
1127	EATON CORP	291667	GASKET VTM	5	\$4.01	\$20.07
1128	EATON CORP	SK170	SK170	2	\$9.96	\$19.92
1129	EATON CORP	SK170	SK170	2	\$9.96	\$19.92
1130	EATON CORP	6901-001	SPACER	2	\$9.90	\$19.81
1131	EATON CORP	02-113006	FCV7-10-S-0-FF	1	\$19.11	\$19.11
1132	EATON CORP	8566-000	4K PISTON SHUTTLE	1	\$19.04	\$19.04
1133	EATON CORP	70142-913	SL KIT	1	\$18.91	\$18.91
1134	EATON CORP	285020-140	BALL; STEEL	2	\$9.45	\$18.90
1135	EATON CORP	103020-000	P/S CHARGE PUMP GASKET-FLSTK	3	\$6.30	\$18.89
1136	EATON CORP	300AA00004	MCSCS024AG000010	1	\$18.02	\$18.02
1137	EATON CORP	70142-924	SEAL KIT	1	\$18.01	\$18.01
	EATON CORP		SPACER	1	\$17.96	\$17.96
	EATON CORP		2K PIN	2	\$8.81	\$17.62
	EATON CORP		H SERIES SPACER (007;008)	2	\$8.72	\$17.44
	EATON CORP		X20 PC SPRING 141-280 BAR 2050-4060	2	\$8.57	\$17.14
	EATON CORP		RING BACKUP RETAINER	1	\$16.83	\$16.83
	EATON CORP		WASHER	2	\$8.26	\$16.52
	EATON CORP		SEAL RING	13	\$1.26	\$16.40
	EATON CORP		SHAFT SEAL PVM018/020	1	\$15.57	\$15.57
	EATON CORP		C10-2 BODY LD -8 SAE A 08T	1	\$15.48	\$15.48
			MCSCJ024BG000010	1	\$15.29	\$15.29
	EATON CORP		2K BALANCE RING	1	\$15.13	\$15.13
	EATON CORP		Dowel Pin	8	\$1.86	\$14.85
	EATON CORP		NV1-10-0-0	1	\$14.84	\$14.84
	EATON CORP		CAP SCREW	11	\$1.34	\$14.77
	EATON CORP		WASHER	2	\$6.96	\$13.91
	EATON CORP		WASHER	2	\$6.96	\$13.91
	EATON CORP		O-RING	2	\$6.96	\$13.91
	EATON CORP		CHAIN LINK - PVM74 & PVM98	1	\$13.77	\$13.91
$\overline{}$	EATON CORP		TEFLON BACK UP RING	7	\$1.95	\$13.77
	EATON CORP			3	\$4.54	\$13.63
	EATON CORP		Snap Ring RING;BACKUP RETAINER	1	\$4.54 \$13.57	
			DUST SEAL MULTIPAK 60501-000	2		\$13.57 \$13.30
					\$6.65	\$13.30 \$13.31
	EATON CORP		KEY (420)	1	\$13.21	\$13.21
	EATON CORP		KEY (420)	1	\$13.21	\$13.21
			MCSCH024DW0B0010	1	\$13.10	\$13.10
	EATON CORP		GASKET	1	\$13.00	\$13.00
	EATON CORP		GASKET	1	\$13.00	\$13.00
	EATON CORP		DRIVE SPOOL.ATS 128 RESMAG REQ	1	\$12.59	\$12.59
			MCSCP024BW0B0010	1	\$12.56	\$12.56
$\overline{}$	EATON CORP		WASHER; CENTERING	1	\$12.38	\$12.38
	EATON CORP		SPRING	1	\$12.11	\$12.11
			MCSCP024DQ000010	1	\$11.47	\$11.47
$\overline{}$	EATON CORP		SPRING	1	\$11.42	\$11.42
1171	EATON CORP	8734-000	GASKET;END COVER 33 39	3	\$3.70	\$11.09

	А	В	С	D	Е	F
					UNIT	
					REPLACE	TOTAL
					MENT	REPLACEM
1	SUPPLIER	PART#	DESCRIPTION	QTY	COST	ENT COST
1172	EATON CORP	300AA00055.	MCSCP012DW0B0010	1	\$10.92	\$10.92
1173	EATON CORP	300AA00056.	MCSCP024DW0B0010	1	\$10.92	\$10.92
1174	EATON CORP	590704	BKDPNG25 704 BOLTS	1	\$10.65	\$10.65
1175	EATON CORP	101619-073	ORIFICE-CONTROL VALVEFLSTK	2	\$5.18	\$10.35
1176	EATON CORP	70523-610	GST [5]	3	\$3.35	\$10.04
1177	EATON CORP	02-171892	18320 K OPTION ADJ KIT 8	1	\$9.89	\$9.89
1178	EATON CORP	565616	CV3-10-P-0-65	1	\$9.64	\$9.64
1179	EATON CORP	6901-014	SPACER	1	\$9.45	\$9.45
1180	EATON CORP	18001-000	STEEL BALL	1	\$9.45	\$9.45
1181	EATON CORP	4993194-001	SPRING; BIAS	2	\$4.61	\$9.22
1182	EATON CORP	351963	PIN	2	\$4.41	\$8.81
1183	EATON CORP	14386-003	4K BOLT	1	\$8.81	\$8.81
1184	EATON CORP	14409-004	6K BOLT	1	\$8.81	\$8.81
1185	EATON CORP	15039-000	6K FRT RET ORING	1	\$8.81	\$8.81
1186	EATON CORP	74308-603	PIVOT	1	\$8.76	\$8.76
1187	EATON CORP	02-160758	SK2-8V-4	1	\$8.74	\$8.74
1188	EATON CORP	16294-212	TORX HEAD BOLT	1	\$8.72	\$8.72
1189	EATON CORP	16294-275	TORX HEAD BOLT	1	\$8.72	\$8.72
1190	EATON CORP	6962-000	4K OUTER FACE SEAL	1	\$8.39	\$8.39
1191	EATON CORP	246632	SPRING	1	\$8.26	\$8.26
1192	EATON CORP	681074	GASKET	1	\$8.26	\$8.26
1193	EATON CORP	684840	GASKET	1	\$8.26	\$8.26
1194	EATON CORP	307198	SHIM	2	\$4.02	\$8.04
1195	EATON CORP	998889	_RING BACKUP RETAINER_	1	\$7.78	\$7.78
1196	EATON CORP	102067-000	GASKET-PRESS OVERRIDE-FLSTK	2	\$3.76	\$7.51
1197	EATON CORP	95904-068	DOWEL PIN; 5/16 X 11/16 [5]	5	\$1.45	\$7.23
1198	EATON CORP	95890-038	8 32 SOC HD CAPSCREW	6	\$1.20	\$7.17
1199	EATON CORP	02-148332	RETAINING NUT	1	\$6.96	\$6.96
1200	EATON CORP	140282	KEY	1	\$6.77	\$6.77
1201	EATON CORP	116569	SET SCREW 10-32X.188	4	\$1.58	\$6.33
1202	EATON CORP	4994816-001	4994816-001 END NUT CNH	1	\$6.14	\$6.14
1203	EATON CORP	02-165873	20254A8 KNOB=K TYPE ADJUS	1	\$6.13	\$6.13
1204	EATON CORP	694302	NAME PLATE V/U/SP	1	\$5.65	\$5.65
1205	EATON CORP	289281	VTM42 SPRING 1 TO 2 GALLON	1	\$5.38	\$5.38
			SNAP RING FOR 1.00 SHAFT	2	\$2.60	\$5.20
1207	EATON CORP	101619-065	ORIFICE-CONTROL VALVEFLSTK	1	\$5.18	\$5.18
1208	EATON CORP	4992730-004	KEY	1	\$5.08	\$5.08
1209	EATON CORP	101333-000	GASKET-PORTING PLATE-FLSTK	1	\$5.03	\$5.03
1210	EATON CORP	96201-088	1/4 DIA SLOTTED SPRING PIN	4	\$1.23	\$4.94
1211	EATON CORP	294660	12-158 ORING [20]	2	\$2.36	\$4.73
	EATON CORP		Soft Plug (Dwng 633270)	2	\$2.33	\$4.65
	EATON CORP		PLUG SAE #5	3	\$1.40	\$4.19
	EATON CORP		PIN	2	\$2.08	\$4.16
	EATON CORP		GASKET VTM	1	\$4.01	\$4.01
	EATON CORP		CAP SCREW	2	\$1.94	\$3.89

		_				
	A	В	С	D	E	F
					UNIT	
					REPLACE	TOTAL
					MENT	REPLACEM
1	SUPPLIER	PART#	DESCRIPTION	QTY	COST	ENT COST
	EATON CORP		GASKET-PRESS OVERRIDE-FLSTK	1	\$3.76	\$3.76
	EATON CORP		STAR WASHER	3	\$1.23	\$3.70
	EATON CORP		PIN	2	\$1.69	\$3.39
1220	EATON CORP	16048-616	WASHER	1	\$3.10	\$3.10
1221	EATON CORP	114976-040	Bolt, Socket Head M10x40	3	\$0.84	\$2.51
1222	EATON CORP	248835	PIN	1	\$2.38	\$2.38
1223	EATON CORP	106641	RING, LOCKING (STEEL)	1	\$2.01	\$2.01
1224	EATON CORP	219234	WASHER	1	\$1.91	\$1.91
1225	EATON CORP	8770-115	B U RING	1	\$1.90	\$1.90
1226	EATON CORP	16077-34	RET RG (MD)	1	\$1.87	\$1.87
1227	EATON CORP	14193-000	KEY	1	\$1.62	\$1.62
1228	EATON CORP	96201-062	ROLL PIN [10]	10	\$0.15	\$1.53
1229	EATON CORP	90880-000	12 OF 9086 1=60521 MLTKIT	1	\$1.29	\$1.29
1230	EATON CORP	4992732-002	JAM NUT	4	\$0.25	\$0.98
1231						\$0.00
1232						\$0.00
1233	EATON INDUS	RS2-12-C3	RS2 DC CABLE	10	\$92.02	\$920.20
1234	EATON INDUS	XBANS15P	15MM SLOTTED DIN RAIL [25]	138	\$5.29	\$729.41
1235	EATON INDUS	M22-WKV	NON-ILL V-POS MTN SEL SWTCH THB-G	5	\$7.60	\$37.98
1236	EATON INDUS	XBATCP2	CIRCUIT BREAKER	3	\$11.04	\$33.12
1237	EATON INDUS	M22-XD-SWI	FLSH BUTTON 6-PACK FOR NON-ILL PB	5	\$3.31	\$16.56
1238	EATON INDUS	SVX040A1-5	600V VFD 40HP NEMA 1	1	\$4,642.00	\$4,642.00
1239	EATON INDUS	XP-702-EO0-	TOUCH SCREEN	1	\$3,703.18	\$3,703.18
1240	EATON INDUS	SVX025A1-5	600V VFD 25HP NEMA 1	1	\$3,603.88	\$3,603.88
	EATON INDUS		FDB BREAKER 3P 30A	2	\$492.28	\$984.57
1242	EATON INDUS	ELC-AN06AA	4 CH IN / 2 CH OUR ANALOG MODULE	3	\$266.12	\$798.37
1243	EATON INDUS	XRU1D24	TERM. BLK RELAY/24VDC/SPDT	34	\$19.87	\$675.43
1244	EATON INDUS	LSR-S11-1-I-	DOOR HINGE SAFETY SWITCH	11	\$55.39	\$609.26
1245	EATON INDUS	PSG120E	POWERSUPPLY 24VDC-90V-264V1PH 12	4	\$140.07	\$560.29
1246	EATON INDUS	FDB-3040	FDB BREAKER 3P 40A	2	\$234.42	\$468.84
1247	EATON INDUS	FDB-3050	FDB BREAKER 3P 50A	2	\$234.42	\$468.84
1248	EATON INDUS	D4PR1-T1	SPDT 24VDC RELAY [5]	45	\$9.61	\$432.50
1249	EATON INDUS	D4PR2A	AC RELAY	38	\$10.03	\$381.26
1250	EATON INDUS	D4PR2T1	RELAY DPDT 24VDC [5]	32	\$10.03	\$321.06
1251	EATON INDUS	QCD3060H	QCD BKR 3P 60A W/ D/R MTG 240VAC	3	\$106.34	\$319.03
	EATON INDUS		QC BKR 3 POLE 60A 240VAC 10 KAIC	3	\$104.66	\$313.97
1253	EATON INDUS	M22-D4-S	4-WAY P/B MOMENTARY NON-INTERLO	5	\$62.26	\$311.28
1254	EATON INDUS	XBATCP1	CIRCUIT BREAKER 1A [20]	23	\$10.57	\$243.14
1255	EATON INDUS	M22-WRJ2V	2-POS MTN JOYSTICK VERTICAL SIL-BZ	5	\$44.25	\$221.23
1256	EATON INDUS	D4PR11A	SPDT 120AC RELAY W LIGHT [5]	18	\$11.71	\$210.79
1257	EATON INDUS	D4PR21A	DPDT 120AC W LIGHT [5]	16	\$12.54	\$200.70
1258	EATON INDUS	D4PR1A	SPDT 120AC RELAY	20	\$9.61	\$192.22
1259	EATON INDUS	M22-DH-R-K	MOMENTARY P/BS EXTENDED RED 1NO	20	\$9.48	\$189.69
1260	EATON INDUS	XBATMU254	PARTITION PLATE [500]	437	\$0.43	\$189.05
1261	EATON INDUS	M22-LED230	LED LIGHT UNIT 85-264VAC GREEN	14	\$13.09	\$183.30

	А	В	С	D	E	F
					UNIT	
					REPLACE	TOTAL
					MENT	REPLACEM
1	SUPPLIER	PART#	DESCRIPTION	QTY	COST	ENT COST
1262	EATON INDUS	LS-S11S	PLASTIC SAFETY SWITCH BODY	6	\$28.84	\$173.06
	EATON INDUS		DPDT RELAY SOCKET [5]	17	\$10.03	\$170.56
	EATON INDUS		CIRCUIT BREAKER 8A	16	\$10.57	\$169.14
-	EATON INDUS		POWER SUPPLY 24VDC/320-575V 5AMP	1	\$166.97	\$166.97
			LED SW 3P 85-264VAC 1NO-OFF-1NO GF	5	\$32.31	\$161.57
			LED LIGHT UNIT 85-264VAC RED	12	\$12.71	\$152.55
	EATON INDUS		TERMINAL BLOCK 15MM RAIL 12-24AWG		\$0.75	\$149.82
\vdash	EATON INDUS		CONNECTOR BLOCK	48	\$2.88	\$138.25
			2-POS MTN JOYSTICK HORIZONT SIL-BZ	3	\$44.25	\$132.74
1271	EATON INDUS	XTRM10A40	CONTACTOR	6	\$21.49	\$128.94
1272	EATON INDUS	M22-L-G-230	LED LIGHT BLOCK 85-264VAC GREEN	8	\$16.11	\$128.88
1273	EATON INDUS	M22-L-Y-230	LED LIGHT UNIT 85-264VAC YELLOW	8	\$15.65	\$125.17
	EATON INDUS		MOM MUSHROOM PB RED	10	\$12.07	\$120.69
1275	EATON INDUS	EASY-USB-C	PROGRAM CABLE FOR EASY 500/700	1	\$116.24	\$116.24
1276	EATON INDUS	XBUT25D22	TERMINAL STRIP [50]	30	\$3.84	\$115.21
1277	EATON INDUS	WMZT1C15	TYPE WMZT 10KA 1 POLE C CURVE 15A	2	\$53.59	\$107.19
1278	EATON INDUS	E47BLS06	BOOTED PLUNGER LIMIT SWITCH	2	\$53.10	\$106.20
1279	EATON INDUS	D4PR11T1	SINGLE CONTACT DC WITH IND. LIGHT	9	\$11.71	\$105.39
1280	EATON INDUS	M22-LED230	LED LIGHT UNIT 85-264VAC BLUE	8	\$12.71	\$101.70
1281	EATON INDUS	M22-LED230	LED LIGHT UNIT 85-264VAC WHITE	8	\$12.71	\$101.70
1282	EATON INDUS	XTCEXFBG2	CONT. ACC. FRONT AUX SEQ B [5]	3	\$30.74	\$92.23
1283	EATON INDUS	M22-LED-W	LED LIGHT UNIT 12-30VAC/DC WHITE	7	\$13.09	\$91.65
1284	EATON INDUS	XTCEXFAG1	CONTACTOR ACCESSORY FRONT AUX	5	\$18.08	\$90.41
1285	EATON INDUS	M22-WJ2H	2-POS MOM JOYSTICK HOR SIL BZL	2	\$44.25	\$88.49
1286	EATON INDUS	XBATCP3	THERMAL CIRCUIT PROTECTOR 3A	8	\$10.57	\$84.57
1287	EATON INDUS	PFC-D2D72	ADAPTER - FLANGE MOUNT [25]	20	\$4.18	\$83.56
1288	EATON INDUS	M22-L-A-W	LED LIGHT BLOCK 12-30VAC/DC AMBER	5	\$16.25	\$81.24
1289	EATON INDUS	M22-L-W-W	LED LIGHT BLOCK 12-30VAC/DC WHITE	5	\$15.65	\$78.23
1290	EATON INDUS	H2013B-3	OVERLOAD RELAY HTR (PKG 3) [3	2	\$38.42	\$76.85
1291	EATON INDUS	D2RF4T1	4 POLE 8A RELAY 24 VOLT COIL	4	\$19.16	\$76.64
1292	EATON INDUS	D2PF2AB	DPDT RELAY 240VAC COIL	5	\$15.04	\$75.22
1293	EATON INDUS	9-2876-1KIT	COIL FREEDOM 120V	1	\$65.98	\$65.98
1294	EATON INDUS	M22-LED-G	LED LIGHT UNIT 12-30VAC/DC GREEN	5	\$13.09	\$65.46
1295	EATON INDUS	M22-WRLK3	LED SW 3P 12-30VAC/DC 1NO-OF-1NO G	2	\$32.31	\$64.63
1296	EATON INDUS	M22-L-R-230	LED LIGHT BLOCK 85-264VAC RED	4	\$16.11	\$64.44
1297	EATON INDUS	XBUTT4	TWO LEVEL TB	37	\$1.64	\$60.51
1298	EATON INDUS	XBAFBR105I	FIXED BRIDGE	20	\$2.86	\$57.18
1299	EATON INDUS	M22-DRL-R	MAINTAINED PB ILL FLUSH RED	6	\$9.19	\$55.13
1300	EATON INDUS	XBUT6FBN	FUSE HOLDER [10]	15	\$3.60	\$53.96
1301	EATON INDUS	M22-K01D	LATE BREAK NC CONTACT	5	\$10.56	\$52.80
1302	EATON INDUS	M22S-WLK3-	SELECTOR MOMENTARY 3-POS GREEN	4	\$13.01	\$52.03
1303	EATON INDUS	M22-D-R-K0'	MOMENTARY P/BS FLUSH RED 1NC	4	\$12.83	\$51.32
1304	EATON INDUS	9575H3S000	DPDT TYPE A RELAY 40AMP 12VDC	1	\$47.63	\$47.63
1305	EATON INDUS	ELC-CBPCE	CABLE	1	\$42.74	\$42.74
1306	EATON INDUS	XBACMU254	END COVER [10]	150	\$0.28	\$42.74

	А	В	С	D	Е	F
					UNIT	
					REPLACE	TOTAL
					MENT	REPLACEM
1	SUPPLIER	PART#	DESCRIPTION	QTY	COST	ENT COST
1307	EATON INDUS	M22-K10P	EARLY MAKE NO CONTACT	4	\$10.56	\$42.24
1308	EATON INDUS	XBUTT4	TWO LEVEL TB	25	\$1.64	\$40.88
			ACOUSTIC DEVICES CONTINUOUS TON	1	\$40.85	\$40.85
1310	EATON INDUS	LSM-XRRM	METAL ROD LEVER & HEAD	2	\$19.65	\$39.31
			SELECTOR MOMENTARY 3-POS BLUE	3	\$13.01	\$39.02
			SELECTOR MOMENTARY 3-POS YELLOV	3	\$13.01	\$39.02
			TYPE WMZT 10KA 1 POLE C CURVE	2	\$19.24	\$38.49
-	EATON INDUS		M20 CORD GRIP	5	\$7.50	\$37.51
	EATON INDUS		RELAY BASE 4 POLE	4	\$9.34	\$37.36
	EATON INDUS		ADAPTOR RING SET FOR 30MM HOLES	12	\$2.89	\$34.68
			IEC OVLR ACCESSORY [5]	3	\$10.85	\$32.54
-			QC DIN RAIL ADAPTER	11	\$2.95	\$32.49
	EATON INDUS		3.5MM SLOTTED SCREW DRIVER	5	\$6.17	\$30.86
	EATON INDUS		PARTITION PLATE [100]	95	\$0.32	\$30.07
			SELECTOR MOMENTARY 3-POS RED	2	\$13.01	\$26.02
			MOMENTARY P/BS FLUSH BLACK 1NO	2	\$12.83	\$25.66
			SIDE AUXILIARY [5]	2	\$12.66	\$25.32
$\overline{}$			LIMIT SWITCH PLASTIC BODY1NO1NC	1	\$25.32	\$25.32
	EATON INDUS		3-POS SPRING TO CENTER	3	\$7.99	\$23.96
	EATON INDUS		RELAY DPDT 12VDC	2	\$10.03	\$20.07
	EATON INDUS		ADJUSTABLE 18MM ROLLER LEVER	2	\$10.03	\$20.07
$\overline{}$	EATON INDUS		FERRULE AI 1.5-8 BK [100]	239	\$0.07	\$17.66
$\overline{}$	EATON INDUS		FERRULE AL 0.75-8 GY [100]	200	\$0.07	\$14.78
	EATON INDUS		TIMER SOCKET	3	\$4.59	\$13.77
	EATON INDUS		MOUNTING RING TOOL	4	\$3.42	\$13.67
			MARKER STRIP 31-40	16	\$0.75	\$11.99
1333	EATON INDUS	XBMZB5H/41	MARKER STRIP 41-50	16	\$0.75	\$11.99
			5.2MM MARKER STRIP HORIZ.NUMBERE	11	\$0.84	\$9.28
1335	EATON INDUS	M22-STDD-X	COMPONENTS HLDR FOR DOUBLE PB	10	\$0.91	\$9.07
$\overline{}$			COMPONENTS HOLDER FOR PB	19	\$0.35	\$6.62
			6.2MM MARKER STRIP VERT. NUMBERE	20	\$0.31	\$6.12
			MARKER STRIP 51-60	8	\$0.75	\$5.99
_			MARKER STRIP 61-70	8	\$0.75	\$5.99
			MARKER STRIP 71-80	8	\$0.75	\$5.99
			MARKER STRIP 81-90	8	\$0.75	\$5.99
			MARKER STRIP 91-100	8	\$0.75	\$5.99
			6.2MM MARKER STRIP HORIZ. NUMBERI	6	\$0.84	\$5.06
			6.2MM MARKER STRIP VERT. NUMBERE	16	\$0.31	\$4.90
			5.2MM MARKER STRIP HORIZ.NUMBERE		\$0.75	\$4.49
	EATON INDUS		FERRULE GY [100]	59	\$0.07	\$4.36
	EATON INDUS		PARTITION PLATE	10	\$0.43	\$4.31
	EATON INDUS		PARTITION PLATE	10	\$0.43	\$4.31
	EATON INDUS		END COVER	10	\$0.36	\$3.59
			ACCESSORIES/COMPONENTS STOP INS	5	\$0.47	\$2.37
1351	EATON INDUS	M22-XST-GB	ACCESSORIES/COMPONENTS START IN	5	\$0.47	\$2.37

	Α	В	С	D	E	F	
					UNIT		
					REPLACE	TOTAL	
					MENT	REPLACEM	
1	SUPPLIER	PART#	DESCRIPTION	QTY	COST	ENT COST	
1352	EATON INDUS	M22-XST-GB	ACCESSORIES/COMPONENTS HAND/O/	5	\$0.47	\$2.37	
1353	EATON INDUS	M22-XST-GB	ACCESSORIES/COMPONENTS OFF INSE	5	\$0.47	\$2.37	
1354	EATON INDUS	M22-XST-GB	COMPONENTS OFF/ON INSERT	4	\$0.47	\$1.90	
1355	EATON INDUS	M22-XST-GB	ACCESSORIES/COMPONENTS ON INSER	4	\$0.47	\$1.90	
1356	EATON INDUS	M22-XST-GB	ACCESSORIES/COMPONENTS RUN INS	4	\$0.47	\$1.90	
1357	EATON INDUS	M22-LS	TITAN M22 ADAPTER	4	\$0.46	\$1.86	
1358						\$645,171.51	
1359							
1360		REPLACEMEN	NT COSTS ARE SHOWN <u>FOR REFERENCE OF</u>	<u>VLY</u>			
1361		MILLIONS MO	DRE AT 35% - 60% DISCOUNT ON OUR WEBS	ITE			
1362	D	OES YOUR VE	NDOR GIVE YOU EXTRA DISCOUNTS?? - WE	DO!!			
1363			ALL PRODUCT GUARANTEED!!				
1364	1364 HE SUPPLIER IS LOOKING FOR REASONABLE OFFERS ON YOUR SELECTION OF THIS STOC						
1365	MINIMUM ORDERS APPLY						
1366	MAKE AN OFFER!!						